ORTHOPAEDIC SURGERY INSTRUMENT SETS

ORTHOPEDIC SURGERY
INS TRUMENT SETS

Product Catalogue

Quality Assurance

=1 TETRA

INDUSTRIES

website: www.tetraind.co

E-Mail: info@tetraind.com
" tetraindustriesOl@gmail.com

Whatsapp: +92-329-7598399 Cell: +92-329-7598399

Address: Shahab pura P.O Head
Office 51310 Sialkot - Pakistan.




ORTHOPAEDIC SURGERY INSTRUMENT SETS

www.tetraind.com

We produce best quallty products
accordIng to ISO 13485/MDD.

We always support our customers
and distributors in the market.

"
. Aysam has over 20 years experience
on surgery instrument set production.

D 2

Innovation is our indispensable
condition to move forward.



SMALL FRAGMENT LOCKING / NON-LOCKING PLATE INSTRUMENT SET .utcsceassasssasssnssnsssnsssnssnsssnsssnssnnssnnsnnnss 4
LARGE FRAGMENT LOCKING / NON-LOCKING PLATE INSTRUMENT SET .utecssesassesnsssnnssssnssesnnsssnssssnnsssnnsssnnsses 5
DHS & DCS INSTRUMENT SET euutuussasssssnnsssnssnsssnsssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssnsssnssnnssnnssnns 6
FLEXIBLE REAMER SURGERY INSTRUMENT SET  ssssscceeseeessssssnssssseessssssnnsssssessssssnnnssssssssssnnnnnsssssssssnnnnnsssssns 7
PELVIC RECONSTRUCTION PLATE INSTRUMENT SET  eeeeeesssssscssseesssssssmnssseessssssnmnsseeessssssnmnnnssesssssnnnnnnnsssns 8
MICRO PLATE INSTRUMENT SET teuutausssssasssassssssasssnssnnssnsssnssssssnsssssssssssssssssssssssssssssssssnssssssnssssnsssssnsssnsssnssnns 9
MINI FRAGMENT PLATE INSTRUMENT SET .uuuussassasssassnnssnsssnssnnssnsssnsssnssssssnsssnssnnssnsssnsssnssnnssnssssssnsssnnssnssn 10
1,5/2,0 MM MAXILLOFACIAL PLATE INSTRUMENT SET = csssscssssassssasssnasssnnsssnnsssnnsssnnnssnnnsssnsssnnnssennssnnnssennn 11
2,4 MM MAXILLOFACIAL PLATE INSTRUMENT SET  .iecussassssssasssassnsssnssnnssnsssnsssnssnassnsssnsssnssnnssnssnnssnnssnssnnss 12
STERNUM RIB PLATE INSTRUMENT SET .utuussassasssasssassasssasssassnnssasssnssnsssnssnnssnnssnsssnssnsssnnsssssnnssnnssnssnnssnnssns 13
3,5/4,5 MM ANGLED BLADE PLATE INSTRUMENT--SE.T ------------------------------------------------------------------------------- 14
2,7_3’5_4,0 MM CANNULATED SCREW INSTRUMENT SET ---------------------------------------------------------------------- 15
4,5-6,5-7,3 MM CANNULATED SCREW INSTRUMENT SET
PIN-WIRE INSTRUMENT SET .utaussassssssassnnssnsssnssnnssnnssssssnssnssssssssssssssssssssssssssssssssssssssssssssassssssssssssssnssnnssnnsen 16
SCREW REMOVAL INSTRUMENT SET utsassasssasssassasssasssnssasssasssassnsssnssssssnsssnssnnsssssssnsnnssnsssnsssnssnnssnsssnssnnssnnsen 17
HERBERT CANNULATED SCREW INSTRUMENT SET .euseasssassasssasssnssnsssassnnssnnssnnsnnsssassanssnsssnssnnssnsssnssnnssnnsnns 18
........................................................................... R L)
HUMERAL INTRAMEDULIARY NATL TNSTRUMENT S o 20

FEMUR ANTEGRADE INTRAMEDULLARY NAIL INSTRUMENT SET
DISTAL FEMUR RETROGRADE & SHORT R PFN INTRAMEDULLARY NAIL INSTRUMENT SET

NEW FEMORAL RECONSTRUCTION INTRAMEDULLARY NAIL INSTRUMENT SET..cueuseussussssassassassnssnsnssassnnsnns 16
APFNA FEMUR SHORT NAIL INSTRUMENT SET = tctaccsassssssssssssasssasasasasasasansnsssnsnsssasssasasasasasssasasssansnsnsnsnsnsass 17
ANT TIBIAL INTRAMEDULLARY NAIL INSTRUMENT SET = sevevessssasassssasassssasassssasasnssasasassasasnssasasassasasassasanan 18
TIBIAL INTRAMEDULLARY NAIL INSTRUMENT SET  tutcuessssassssasasassssasassssassssssasassssassssssasassssasassnsasnssnsnsnnnnss 19
INTRAMEDULLARY NAIL REMOVAL INSTRUMENT SET stesesessasesessasasassasasassasasassnsssassnsssassssnsnssnsnsnsnnsnsnnnns 20
ELASTIC NAIL INSTRUMENT SET tuuuussssnssnssnsssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssassassassnsnns 20
SPINAL PEDICLE SCREW SYSTEM INSTRUMENT SET  cecicrasesassssssssssssasssasasasasasasasasassnsssnsnsssasasasasasasasasnnanas 21
ANTERIOR CERVICAL PLATE SYSTEM INSTRUMENT SET = ceeasesessasasassssasassssasassssasassssasassnsasasssnasnsnssasnsnnsanan 21
POSTERIOR CERVICAL FIXATION SYSTEM INSTRUMENT SET = scsasesasasssuassssssasssasasasasasasasasasansnnssnsnnnsnsnsanass 22
ANTERIOR THORACIC & LUMBAR PLATE SYSTEM INSTRUMENT SET.iuveuessasassssasasassasasassnsanansasassssnsnsansnnnnan 22
AYFIX EXTERNAL FIXATOR INSTRUMENT SET tuueuussssssssssssnsssssssssssssssssssssssssssssssssssssssasssssnssnssnssnssnssssassnssnssnn 23
MINI RAIL EXTERNAL FIXATOR INSTRUMENT SET teeecscssssssseesssssnsnnsssssssesssssnnnnnssssssssssssnnnnnnsssssssssssnnnnnnnns 23
TUBULAR EXTERNAL FIXATOR INSTRUMENT SET (SMALL) sirescsssrssnnsssrssnnsssssnnnssssnsnnssssssnnnsssssnnssssssnnssssnnnn 24
TUBULAR EXTERNAL FIXATOR INSTRUMENT SET(MEDIUM) .cuiesessssnssssnssssnnsssnssssnnsssnnsssnnsssnnsssnnssesnsssnnnssnnns 24
TUBULAR EXTERNAL FIXATOR INSTRUMENT SET(LARGE).ussessssassssnssssassssnnsssnnsssnnsssnnsssnnsssnnsssnnssesnnssnnnssnnns 25
ILIZAROV CIRCULAR EXTERNAL FIXATOR INSTRUMENT SET .uiesressassassnsssssnsansansnssassnssnssssssssssassassnssnssnsansnnss 26
PEDIATRIC ILIZAROV CIRCULAR EXTERNAL FIXATOR INSTRUMENT SET..tessassassassassussnssnssnsansassassassnssnsnnsnns 27
HYBRID EXTERNAL FIXATOR INSTRUMENT SET.eitessesssssssassassassassassnsssssssnssassassassnssnssnssnssnsnssnssnssassnsnnsnnsnns 28
3,0/3,5/4,0/5,0/6,5 MM HEADLESS COMPRESSION SCREW INSTRUMENT SET ..ccecssesssasssnssssssnsssnssnnssnnsennsnnss 29
3,0/3,5/4,0 MM HEADLESS COMPRESSION SCREW INSTRUMENT SET .icussessasssassssssssssnsssnssnsssnnssnssnnssnnssnssnnss 29
5,0/6,5 MM HEADLESS COMPRESSION SCREW INSTRUMENT SET .cucctassesessssnssssnssssnnsssnnsssnnssennsssnnssennssennssnnn 30
CABLE  INSTRUMENT  SET euuuusassassassnsssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssnssnssssnssns 30
HIP HEMIARTHROPLASTY BIPOLAR CUP INSTRUMENT SET.itesesessusasessasasassnsasassasnsassnsasassasnsassnsnsassnsnsasnnnns 31
AYSAM TOTAL HIP ARTHROPLASTY ACETABULUM INSTRUMENT SET .evteseessssassassassassassnssassnssssnssnssnssnssnsnnsnns 31
MODULAR HIP ARTHROPLASTY INSTRUMENT SET (BOX 1) tiecssssrssnsssssssnnsssssnnnsssnssnnssssnsnnsssssnnnsssssnnssssnsnnnss 32
MODULAR HIP ARTHROPLASTY INSTRUMENT SET (BOX 2) sctvreasssssssssassssasssnnsssnnssesnsssnnsssnnssssnnsssnnsssnnsssnnnss 33
AYSAM KNEE ARTHROPLASTY INSTRUMENT (FEMUR).uuieessssassssasssnnsssnnssssnnsssnnsssnnsssnnsssnnsssnnsssnnsssnnsssnnnssnnns 34
AYSAM KNEE ARTHROPLASTY INSTRUMENT (TIBIA).cussesssssassssassssnssssnssssnnsssnssssnnsssnnsssnnsssnnssssnssssnsssnnsssnnns 35
HIP ARTHROPLASTY KARE FEMORAL STEM INSTRUMENT SET .uuusessassassassasssssssassassassassnssnssnssnsnnssssnssnssnssnsnns 36
Lumbar Cage Instruments & Set For PIIf/ TIf s sesssesse s aseranernes 37
Pedical Screw instrumenst @and SEt  esiiiesessssrrssssssessssssersssssesssnsssrnnnsa . 38
ACL/PCL Reconstruction INSIrUMENT SEE  eeiiiiisisssssssssrrsssssnsssss s eesssssnsssssseassssnnnnsssssnnssnnnnnnes 39
Trimline Cervical Retractor System s 40
Super-slide II Laminectomy Retractor SEt e se s sns s nsnas 49
Trimllne Cerv'cal Reyractor System lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll 42
Microdisectomy Tubular Retractor =~ s 43
MIS Tubular Retractor SyStem s 44
BlackBelt Cervical Retractor SEt =~ s n e nnnnrnnnn 45
......................................................................... 46

Mcculloh Retractor Set




SMALL FRAGMENT LOCKING / NON-LOCKING PLATE INSTRUMENT SET

A3200-0100 SMALL FRAGMENT LOCKING PLATE INSTRUMENT SET
A3200-0101 DRILL BIT @2,0X110 MM DRILL BIT @2,7X130 MM DRILL BIT
A3200-0102 @3,2X130 MM DRILL BIT 4,2X130 MM TAP FOR CORTEX
A3200-0103 SCREW 2,7 MM TAP FOR CORTEX SCREW 3,5 MM TAP
A3200-0133 CANCELLOUS 4,0 MM HOLLOW REAMER SMALL COUNTERSINK
A3200-0104 @6,0 EXTRACTION SCREW HEXAGONAL 2,5 MM CONICAL
A3200-0105 HEXAGONAL SCREWDRIVER SHAFT 2,0 MM QUICK COUPLING
A3200-0106 HEXAGONAL SCREWDRIVER SHAFT 2,5 MM QUICK COUPLING
A3200-0107 HEXAGONAL ~ SCREWDRIVER 2,0 MM  HEXAGONAL
A3200-0108 SCREWDRIVER 2,5 MM BENDING IRON SMALL RIGHT
A3200-0109 BENDING IRON SMALL LEFT SELF-CENTERING BONE HOLDING
A3200-0110 FORCEPS (190 MM) SHARP REDUCTION FORCEP (170 MM)
A3200-0111 OBILIQUE REDUCTION FORCEP (190 MM) SLEEVE KEY GUIDE
A3200-0112 WIRE @1,8X200 MM NEUTRAL AND LOAD DRILL GUIDE 2,7/3,5
A3200-0113 MM NEUTRAL AND LOAD DRILL GUIDE 3,2/4,0 MM THREADED
A3200-0114 DRILL SLEEVE 2,0 MM THREADED DRILL SLEEVE 2,7 MM
A3200-0115 SCREW FORCEPS T-HANDLE QUICK COUPLING TORQUE
A3200-0116 LIMITING HANDLE 0,8N.M - @2 ALYAN TORQUE LIMITING
A3200-0117 HANDLE 1,5N.M - @2,5 ALYAN DEPTH GAUGE 0-50MM DEPTH
A3200-0118 GAUGE 0-70MM ALUMINIUM BOX

A3200-0119

A3200-0120

A3200-0132

A3200-0121

A3200-0122

A3200-0120

A3200-0124

A3200-0125

A3200-0126

A3200-0127

A3200-0128

A3200-0129

A3200-0130

A3200-0200 LARGE FRAGMENT LOCKING PLATE INSTRUMENT SET

A3200-0201 DRILL BIT @3,2X150 MM DRILL BIT @4,1X250 MM DRILL BIT
A3200-0202 @4,7X150 MM TAP FOR CORTEX SCREW 4,5X150 MM TAP FOR
A3200-0203 CORTEX SCREW 5,0X180 MM TAP CANCELLOUS 5,0X180 MM
A3200-0204 HOLLOW REAMER LARGE 130 MM COUNTERSINK @8,0X130
A3200-0205 MM EXTRACTION SCREW HEXAGONAL 3,5X130 MM CONICAL
A3200-0206 HEXAGONAL SCREWDRIVER SHAFT 3,5 MM QUICK COUPLING
A3200-0207 HEXAGONAL SCREWDRIVER 3,5 MM SLEEVE KEY GUIDE WIRE
A3200-0208 @1,8X250 MM NEUTRAL AND LOAD DRILL GUIDE 3,2/4,5 MM
A3200-0209 THREADED DRILL GUIDE (SLEEVE) 4,1X130 MM SCREW
A3200-0210 FORCEPS BENDING IRON LARGE RIGHT BENDING IRON
A3200-0211 LARGE LEFT SELF-CENTERING BONE HOLDING FORCEPS (270
A3200-0212 MM) SHARP REDUCTION FORCEP (200 MM) OBILIQUE
A3200-0213 REDUCTION FORCEP (230 MM) T-HANDLE QUICK COUPLING
A3200-0214 TORQUE LIMITING HANDLE 4,0 NM DEPTH GAUGE 0-120 MM
A3200-0215 ALUMINIUM BOX

A3200-0216

A3200-0217

A3200-0218

A3200-0219

A3200-0220

A3200-0221

A3200-0223

A3200-0224

A3200-0225

A3200-0222




DHS & DCS INSTRUMENT PLATE SET

A4200-0500 DHS & DCS INSTRUMENT SET

A4200-0501 T-HANDLE QUICK COUPLING

A4200-0502 TAP CORTEX SCREW 4,5 MM

A4200-0503 TAP CORTEX SCREW 5,0 MM

A4200-0504 SIMPLE DRILL CLIP

A4200-0505 NEUTRAL AND LOAD DRILL GUIDE 3,2-4,5 MM
A4200-0507 DRILL BIT @4,1X250 MM

A4200-0508 DRILL BIT @3,2X150 MM

A4200-0509 LAG SCREW DEPTH MEASURING DEVICE
A4200-0510 TAP FOR LAG SCREW

A4200-0511 THREADED K-WIRE @1,8X230 MM
A4200-0512 DHS/DCS IMPACTOR LARGE

A4200-0513 DEPTH GAUGE 0-120 MM

A4200-0514 DHS/DCS IMPACTOR SMALL

A4200-0515 DHS/DCS WRENCH 2

A4200-0516 DHS/DCS WRENCH 1

A4200-0517 HEXAGONAL SCREWDRIVER SW 3,5 MM
A4200-0518 DCS ANGLE GUIDE 95°

A4200-0519 DHS ANGLE GUIDE 135°

A4200-0520 DHS REAMER

A4200-0521 DCS REAMER

A4200-0523 SCREW FORCEPS

A4200-0524 THREADED DRILL GUIDE(SLEEVE) 4,1 MM
A4200-0525 QUICK COUPLING HEXAGONAL SCREWDRIVER SW 3,5 MM
A4200-0527 TORQUE LIMITING HANDLE 4,0 NM
A4200-0522 ALUMINIUM BOX

DHS & DCS
INSTRUMENT PLATE SET

—

Al
i 'rJ':i
'y
i
i !
f

ﬁﬂ;
1
N
Y
)

/
/

d.
i
I
.I'Ir
gﬁﬁ’
'
I f
I
!
/
y
1

SMALL FRAGMENT LOCKING / NON-LOCKING
PLATE INSTRUMENT SET

=

.fr-f

'}
!

J
d
!
d]
!

I
iy
'

!

IIIII
[t
i 'ruf
{5s
!
!

'rn"
'rf
’y
!
Y
/

.'I
)
I'F
J
if
!
I
fof
i)
fj.'
¥ |
Ty

!
h

f

/)

/

!
y

LARGE FRAGMENT LOCKING / NON-LOCKING
PLATE INSTRUMENT SET

/

I
1’

—
—
i e b gl -
e T s
i T
B Sl S i iy
L . ___-.."‘.'_--._""
— e T
e ey ] e,
ey
i Sl -
el it e
- S Ty, -
—— — T
L =

|I.I I
i f




FLEXIBLE REAMER SURGERY INSTRUMENT SET

A5201-0100 FLEXIBLE REAMER SURGERY INSTRUMENT SET

A5201-0101 FLEXIBLE REAMER @7,5 MM FLEXIBLE REAMER @8,0
A5201-0102 MM FLEXIBLE REAMER BIT @7,5 MM FLEXIBLE
A5201-0103 REAMER BIT 8,0 MM FLEXIBLE REAMER BIT @8,5
A5201-0104 MM FLEXIBLE REAMER BIT @9,0 MM FLEXIBLE
A5201-0105 REAMER BIT @9,5 MM FLEXIBLE REAMER BIT @10 MM
A5201-0106 FLEXIBLE REAMER BIT @10,5 MM FLEXIBLE REAMER
A5201-0107 BIT @11,0 MM FLEXIBLE REAMER BIT @11,5 MM
A5201-0108 FLEXIBLE REAMER BIT @12 MM FLEXIBLE REAMER
A5201-0109 BIT @12,5 MM FLEXIBLE REAMER BIT @13,0 MM T-
A5201-0110 HANDLE WITH QUICK COUPLING ALUMINIUM BOX
A5201-0111

A5201-0112

A5201-0113

A5201-0114

A5201-0115

A5201-0116

PELVIC RECONSTRUCTION PLATE INSTRUMENT SET

A4200-0800 PELVIC RECONSTRUCTION PLATE INSTRUMENT SET STRAIGHT

A4200-0801 BALL SPIKE 300 MM UNIVERSAL HEXAGONAL SCREWDRIVER SW 2,5
A4200-0802 HEXAGONAL SCREWDRIVER SW 2,5 RETRACTOR DRILL GUIDER @2,5
A4200-0803 MM FLEXIBLE DRILL BIT @2,5 MM TAP @3,5 MM DRILL BIT @3,0 MM
A4200-0804 TAP @4,0 MM DRILL BIT @2,5 MM DRILL-TAP GUIDER @2,5-@3,5 MM
A4200-0805 DRILL-TAP GUIDER @3,0-@4,0 MM SCREW HOLDER FORCEP DEPTH
A4200-0806 GAUGE 0-70 MM BENDING IRON LEFT BENDING IRON RIGHT BONE
A4200-0807 HOLDING FORCEP 200 MM REDUCTION FORCEP STRAIGHT
A4200-0808 REDUCTION FORCEP CURVED 250 MM BONE HOLDING FORCEP 250
A4200-0809 MM PELVIC MOULD PLATE RECONSTRUCTION MOULD PLATE
A4200-0810 REDUCTION FORCEP CURVED 280 MM PELVIC RECONSTRUCTION
A4200-0811 FORCEP LARGE 330 MM PELVIC REDUCTION FORCEP WITH 2 BALL-
A4200-0812 TIPPED 400 MM PELVIC REDUCTION FORCEP WITH 2 HIGH-LOW-BALL-
A4200-0813 TIPPED 400 MM PELVIC REDUCTION FORCEP WITH 3 BALL-TIPPED 400
A4200-0814 MM PLATE BENDER BONE HOOK T-HANDLE BONE HOOK ALUMINIUM
A4200-0815 BOX

A4200-0816

A4200-0817

A4200-0818

A4200-0819

A4200-0820

A4200-0821

A4200-0822

A4200-0823

A4200-0824

A4200-0825

A4200-0826

A4200-0827

A4200-0828

A4200-0829

A4200-0830

A4200-0831




MICRO PLATE INSTRUMENT SET

A4200-0300 MICRO PLATE INSTRUMENT SET

A4200-0301 SCREW BOX 1,5/2,0/2,7 MM DEPTH
A4200-0302 GAUGE 0-40 MM BONE ELEVATOR
A4200-0303 LARGE BONE ELEVATOR MEDIUM
A4200-0304 BONE ELEVATOR SMALL DISSECTOR
A4200-0305 50 MM DISSECTOR 3,0 MM
A4200-0306 BENDING IRON COUNTERSINK HA
A4200-0307 2,7 MM COUNTERSINK HA 2,0 MM
A4200-0308 TAP HA 2,0 MM TAP HA 2,7 MM
A4200-0309 SHARP HOOK DRILL BIT @1,5 MM
A4200-0310 DRILL BIT @2,0 MM SCREW
A4200-0311 FORCEPS GUIDE @2,0/@2,7 MM
A4200-0312 GUIDE @1,5/32,0 MM  PLATE-
A4200-0313 BENDING FORCEPS WIRE CUTTER
A4200-0314 BONE RIBBING RONGEUR POINTED-
A4200-0315 TIP REDUCTION FORCEPS BENT-TIP
A4200-0316 REDUCTION FORCEPS PLATE-HOLD
A4200-0317 FORCEPS HEXAGONAL
A4200-0318 SCREWDRIVER SW2,0 SKIN
A4200-0319 RETRACTOR ALUMINIUM BOX
A4200-0320

A4200-0321

A4200-0322

A4200-0323

A4200-0324

A4200-0325

A4200-0326

A4200-0327

MINI FRAGMENT PLATE INSTRUMENT SET

A4200-0400 MINI FRAGMENT PLATE INSTRUMENT SET TAP HA

A4200-0401 2,4 GUIDE 1,5/2,4 DRILL BIT 1,5X100 MM TAP HA 2,0

A4200-0402 GUIDE 1,2/2,0 MM DRILL BIT 1,2X100 MM TAP HA 2,7 j -
A4200-0403 MM GUIDE 2,0/2,7 MM DRILL BIT 2,0X100 MM PLATE- N . T
A4200-0404 HOLDING ~ FORCEPS  PLATE-BENDING  FORCEPS ‘&\\
A4200-0405 RETRACTORS 1X3,0 MM DISSECTOR 50 MM

A4200-0406 DISSECTOR 3,0 MM SHARP HOOK BENDING IRON WIRE _

A4200-0407 CUTTER T-HANDLE QUICK COUPLING SCREW FORCEPS

A4200-0408 POINTED-TIP  REDUCTION ~ FORCEPS ~ BENT-TIP

A4200-0409 REDUCTION FORCEPS SHAPE-MADE FORCEPS QUICK s

A4200-0410 COUPLING ~ SCREWDRIVER ~ HEXAGONAL ~ (SW2,0) e

A4200-0411 COUNTERSINK DEPTH GAUGE 0-50 MM  SKIN A

A4200-0412 RETRACTOR DEPTH GAUGE 0-30 MM STRAIGHT-

A4200-0413 HANDLE QUICK COUPLING HEXAGONAL SCREWDRIVER “le

A4200-0414 SW 2,0 MM MINI SCREW RACK ALUMINIUM BOX e
A4200-0415 T
A4200-0416

A4200-0417

A4200-0418

A4200-0419

A4200-0420

A4200-0421

A4200-0422

A4200-0423

A4200-0424

A4200-0425

A4200-0426

A4200-0428

A4200-0429

A4200-0430

A4200-0431

A4200-0427




1,5/2,0 MM MAXILLOFACIAL PLATE INSTRUMENT SET

A3128-0100 1,5/2,0 MM MAXILLOFACIAL PLATE INSTRUMENT SET

A3128-0101 HOLLOW REAMER 1,5 MM HOLLOW REAMER 2,0 MM
A3128-0102 SCREWDRIVER FOR 1,5 MM SCREW SCREWDRIVER FOR 2,0
A3128-0103 MM SCREW DEPTH GAUGE 0-30 LIMITED DRILL BIT 1,6X5,0
A3128-0104 MM LIMITED DRILL BIT 1,6X6,0 MM LIMITED DRILL BIT
A3128-0105 1,6X7,0 MM LIMITED DRILL BIT 1,6X9,0 MM LIMITED DRILL
A3128-0106 BIT 1,6X11,0 MM LIMITED DRILL BIT 1,6X13,0 MM LIMITED
A3128-0107 DRILL BIT 1,6X15,0 MM LIMITED DRILL BIT 1,1X4,0 MM
A3128-0108 LIMITED DRILL BIT 1,1X5,0 MM LIMITED DRILL BIT 1,1X6,0
A3128-0109 MM LIMITED DRILL BIT 1,1X7,0 MM LIMITED DRILL BIT
A3128-0110 1,1X9,0 MM LIMITED DRILL BIT 1,1X11,0 MM QUICK
A3128-0111 COUPLING HANDLE GUIDE 1,1 MM & 1,6 MM ALUMINIUM
A3128-0112 BOX

A3128-0113

A3128-0114

A3128-0115

A3128-0116

A3128-0117

A3128-0118

A3128-0119

A3128-0120

A3128-0121

2,4 MM MAXILLOFACIAL PLATE INSTRUMENT SET

A3128-0200 2,4 MM MAXILLOFACIAL PLATE INSTRUMENT SET

A3128-0201 DEPTH GAUGE 0-30 MM QUICK COUPLING HANDLE
A3128-0202 GUIDE 1,9 MM COUNTERSINK DRILL 2,0 MM
A3128-0203 SCREWDRIVER FOR 2,4 MM SCREW LIMITED DRILL BIT
A3128-0204 1,9X5,0 MM LIMITED DRILL BIT 1,9X7,0 MM LIMITED
A3128-0205 DRILL BIT 1,9X9,0 MM LIMITED DRILL BIT 1,9X11,0 MM
A3128-0206 LIMITED DRILL BIT 1,9X13,0 MM LIMITED DRILL BIT
A3128-0207 1,9X15,0 MM PLATE SHAPING FORCEPS ROUND PLATE
A3128-0208 BENDER PLATE SHAPING FORCEPS ALUMINIUM BOX
A3128-0209

A3128-0210

A3128-0211

A3128-0212
A3128-0213
A3128-0214
A3128-0215




STERNUM RIB PLATE INSTRUMENT SET

A4200-0900
A4200-0901
A4200-0902
A4200-0903
A4200-0904
A4200-0905
A4200-0906
A4200-0907
A4200-0908
A4200-0909

STERNUM RIB PLATE INSTRUMENT SET
REDUCTION FORCEPS DOUBLE LARGE
REDUCTION FORCEPS CURVED

REDUCTION FORCEPS DOUBLE SMALL
REDUCTION FORCEPS SINGLE

PLATE INSERT FORCEPS

RIB PLATE CUTTER

PERIOSTEAL ELEVATOR 9,0 MM
PERIOSTEAL ELEVATOR 12,0 MM
ALUMINIUM BOX

-‘---"-‘-'--\"'-H'-..-"" o

:-:":ﬂ-q'“:-:":-:‘:n“_‘_:-. o

H::n_"‘:a‘:-h,“:_,_':",_:hh_‘ﬁq"‘_‘-‘

SN

— --"":—-."-H'..,_'--“":'-""':--.""‘

R o T Sl -
===
o

A4200-1600 3,5/4,5 MM ANGLED BLADE PLATE INSTRUMENT SET
A4200-1601 SEATING CHISEL FOR ADULTS SEATING CHISEL FOR
A4200-1602 ADOLESCENT AND CHILDREN SEATING CHISEL FOR
A4200-1603 INFANTS INSERTER-EXTRACTOR FOR CHILDREN INSERTER-
A4200-1604 EXTRACTOR FOR ADULTS IMPACTOR HAMMER SLOTTED
A4200-1605 HAMMER CHISEL GUIDE TRIANGULAR POSITIONING PLATE
A4200-1606 80-70-30 TRIANGULAR POSITIONING PLATE 90-50-40
A4200-1607 TRIANGULAR POSITIONING PLATE 100-60-20 TRIANGULAR
A4200-1608 POSITIONING PLATE 110-90-90-70 ALUMINIUM BOX
A4200-1609
A4200-1610
A4200-1611
A4200-1612
A4200-1613

A4200-1614




2,7/3,5/4,0 MM CANNULATED SCREW INSTRUMENT SET

A4200-0600 2,7/3,5/4,0 MM CANNULATED SCREW INSTRUMENT SET

A4200-0601 MEASURING DEVICE 0-70 MM CLEANING STYLET @0,8X130 MM
A4200-0602 CANNULATED COUNTERSINK @6,0 MM CANNULATED DRILL BIT
A4200-0603 @2,2X100 MM CANNULATED HEXAGONAL SCREWDRIVER SHAFT
A4200-0604 2,0 MM, QUICK COUPLING CANNULATED TAP FOR 2,7 MM
A4200-0605 C.SCREW CANNULATED SCREWDRIVER HEXAGONAL 2,5 MM
A4200-0606 CANNULATED COUNTERSINK @4,0 MM @5,0/2,2 MM DRILL
A4200-0607 SLEEVE DRILL SLEEVE @3,2 & PROTECTION SLEEVE @5,0 MM
A4200-0608 CANNULATED HEXAGONAL SCREWDRIVER SHAFT, 2,5MM,
A4200-0610 QUICK COUPLING CANNULATED SCREWDRIVER HEXAGONAL 2,0
A4200-0611 MM HEXAGONAL SCREWDRIVER SHAFT, 2,0MM, QUICK
A4200-0613 COUPLING HEXAGONAL SCREWDRIVER SHAFT, 2,5MM, QUICK
A4200-0614 COUPLING SCREWDRIVER HEXAGONAL 2,0 MM SCREWDRIVER
A4200-0615 HEXAGONAL 2,5 MM SCREW FORCEP T-HANDLE QUICK
A4200-0616 COUPLING CANNULATED TAP FOR 3,5 MM C.SCREW
A4200-0617 CANNULATED TAP FOR 4,0 MM C.SCREW GUIDE WIRE @0,8X130
A4200-0618 MM @5,0/0,8 MM GUIDE WIRE SLEEVE CLEANING STYLET
A4200-0619 21,0X130 MM GUIDE WIRE @1,0X130 MM @5,0/1,0 MM GUIDE
A4200-0620 WIRE SLEEVE CANNULATED DRILL BIT @3,2X130 MM @5,0/2,7
A4200-0621 MM DRILL SLEEVE CANNULATED DRILL BIT @2,7X130 MM
A4200-0622 ALUMINIUM BOX

A4200-0623

A4200-0624

A4200-0625

A4200-0626

A4200-0627

A4200-0628

A4200-0629

A4200-0630

A4200-0612

4,5/6,5/7,3 MM CANNULATED SCREW INSTRUMENT SET

A4200-7300 4,5-6,5-7,3 MM CANNULATED SCREW INSTRUMENT SET

A4200-7301 ADJUSTABLE  PARALLEL WIRE GUIDE  CANNULATED
A4200-7302 COUNTERSINK @8,0 CANNULATED DRILL BIT ( @3,2X180 MM )
A4200-7303 CANNULATED DRILL BIT ( @4,5X250 MM ) CANNULATED
A4200-7304 HEXAGONAL SCREWDRIVER 3,5 HEX CANNULATED TAP FOR
A4200-7305 @4,5 MM CANNULATED SCREW CANNULATED TAP FOR @6,5
A4200-7306 MM CANNULATED SCREW CANNULATED TAP FOR @7,3 MM
A4200-7307 CANNULATED SCREW CLEANING STYLET ( ©@1,2X250 MM )
A4200-7308 CLEANING STYLET ( @1,8X250 MM ) DRILL SLEEVE @3,2 MM
A4200-7309 GUIDE WIRE SLEEVE @ 1,8 MM GUIDE WIRE SLEEVE @1,2 MM
A4200-7310 HEXAGONAL  SCREWDRIVER  3,5MM  HEX HEXAGONAL
A4200-7311 SCREWDRIVER SHAFT, 3,5 MM, QUICK COUPLING HEXAGONAL
A4200-7312 SCREWDRIVER SHAFT, 3,5 MM,QUICK COUPLING CANNULATED
A4200-7313 HOLDING SCREW MEASURING DEVICE MULTIPLE WIRE GUIDE
A4200-7315 @2,5 MM TROCAR PROTECTION SLEEVE @5,0 & DRILL SLEEVE
A4200-7316 @4,5 THREADED GUIDE WIRE ( ©1,2X230 MM ) THREADED
A4200-7317 GUIDE WIRE ( @1,8X230 MM) THREADED DRILL SLEEVE @4,5
A4200-7318 MM THREADED TAP SLEEVE ©@7,3 MM WRENCH FOR
A4200-7319 ADJUSTABLE PARALLEL WIRE GUIDE T-HANDLE WITH QUICK
A4200-7320 COUPLING ALUMINIUM BOX

A4200-7321

A4200-7322

A4200-7323

A4200-7324

A4200-7325

A4200-7326

A4200-7327

A4200-7328

A4200-7329




A6200-0100
A6200-0101
A6200-0102
A6200-0103
A6200-0104
A6200-0105
A6200-0106
A6200-0108
A6200-0107

PIN-WIRE INSTRUMENT SET

PIN-WIRE INSTRUMENT SET VISE
GRIP 200 MM T-HANDLE WITH JACOB'S
CHUCK SMALL WIRE BENDING WIRE
CUTTER -1 WIRE CUTTER -2 WIRE
PASSER VISE GRIP 240 MM ALUMINIUM
BOX

il

=T

ll.-—-
Hakki ® ®

SCREW REMOVAL INSTRUMENT SET

A4200-1000
A4200-1001
A4200-1002
A4200-1003
A4200-1004
A4200-1005
A4200-1006
A4200-1007
A4200-1008
A4200-1009
A4200-1010
A4200-1011
A4200-1012
A4200-1013
A4200-1014
A4200-1015
A4200-1016
A4200-1017
A4200-1018
A4200-1019
A4200-1020
A4200-1021
A4200-1022
A4200-1023
A4200-1024
A4200-1025
A4200-1026
A4200-1027
A4200-1028
A4200-1029
A4200-1030
A4200-1031
A4200-1032
A4200-1033
A4200-1034
A4200-1035
A4200-1036
A4200-1037
A4200-1038
A4200-1039
A4200-1040
A4200-1041
A4200-1042
A4200-1043
A4200-1044
A4200-1045
A4200-1046
A4200-1047
A4200-1048
A4200-1049

SCREW REMOVAL INSTRUMENT SET
HOLLOW REAMER @4,0 MM

HOLLOW REAMER @5,0 MM

HOLLOW REAMER @6,5 MM

HOLLOW REAMER @8,0 MM

HOLLOW REAMER @10 MM

SPINAL MONOAXIAL PEDICLE SCREWDRIVER
TORX SCREWDRIVER @5,3 MM

TORX SCREWDRIVER @4,3 MM

TORX SCREWDRIVER @3,8 MM

TORX SCREWDRIVER @3,4 MM

TORX SCREWDRIVER 33,2 MM

TORX SCREWDRIVER @2,7 MM

TORX SCREWDRIVER @2,3 MM

HEXAGONAL SCREWDRIVER SW 5,5 MM
HEXAGONAL SCREWDRIVER SW 5,0 MM
HEXAGONAL SCREWDRIVER SW 4,5 MM
HEXAGONAL SCREWDRIVER SW 4,0 MM
HEXAGONAL SCREWDRIVER SW 3,5 MM
HEXAGONAL SCREWDRIVER SW 3,0 MM
HEXAGONAL SCREWDRIVER SW 2,5 MM
HEXAGONAL SCREWDRIVER SW 2,0 MM
HEXAGONAL SCREWDRIVER SW 1,5 MM
SQUARE SCREWDRIVER SW 1,5 MM

SQUARE SCREWDRIVER SW 1,2 MM

SQUARE SCREWDRIVER SW 1,1 MM
PHILLIPS SCREWDRIVER

SLOTTED SCREWDRIVER LARGE

SLOTTED SCREWDRIVER SMALL
EXTRACTION SCREW HEXAGONAL 2,5X0,5 MM CONICAL
EXTRACTION SCREW HEXAGONAL 2,5 MM CONICAL
EXTRACTION SCREW HEXAGONAL 3,5 MM CONICAL
EXTRACTION SCREW HEXAGONAL 4,0 MM CONICAL
EXTRACTION BOLT @3,5 MM

EXTRACTION BOLT @4,5 MM

EXTRACTION BOLT @6,0 MM

EXTRACTION BOLT @6,5 MM

HOLLOW REAMER @3,0 MM

HOLLOW REAMER @2,7 MM

ROUND GAUGE 8,0 MM

TIP SCREWDRIVER

SHARP HOOK

HIGH SPEED DRILL BIT @4,0X80 MM

HIGH SPEED DRILL BIT @6,0X80 MM

HIGH SPEED DRILL BIT @8,0X80 MM

SCREW EXTRACTOR

I-HANDLE WITH QUICK COUPLING
T-HANDLE WITH QUICK COUPLING

PLIERS FOR SCREW REMOVAL

ALUMINIUM BOX




HERBERT CANNULATED SCREW INSTRUMENT SET

A4200-1500 HERBERT CANNULATED SCREW INSTRUMENT SET

A4200-1501 @2,0 MM SCREWDRIVER HEXAGONAL

A4200-1502 @2,0 MM CANNULATED SCREWDRIVER HEXAGONAL
A4200-1503 CLEANING STYLET

A4200-1504 KIRSCHNER WIRE

A4200-1505 @2,2X150 MM CANNULATED DRILL BIT

A4200-1506 MEASURING DEVICE

A4200-1507 PARALLEL SLEEVE

A4200-1508 SCREW FORCEPS

A4200-1509 ALUMINIUM BOX

HUMERAL INTRAMEDULLARY NAIL INSTRUMENT SET

A1200-0100 HUMERAL INTRAMEDULLARY NAIL INSTRUMENT SET

A1200-0101 AWL
A1200-0102 QUICK COUPLING T-HANDLE
A1200-0103 SLEEVE @8-@6 MM
A1200-0105 OPEN WRENCH
A1200-0106 DRILL BIT @5,2 MM WITH T-HANDLE
A1200-0107 TAP @3,5 MM
A1200-0108 SCREWDRIVER SW 2,5 MM
A1200-0109 DISTAL POSITIONING FRAME
A1200-0110 DEPTH GAUGE 0-60 MM
A1200-0111 DRILL BIT @2,9X250 MM
A1200-0112 DRILL BIT @5,2X250 MM
A1200-0114 REAMER @8,5X340 MM
A1200-0115 REAMER @8X340 MM
A1200-0116 REAMER @7,0X340 MM
= " A1200-0117 HAMMER
| ——l A1200-0118 GUIDE ROD
—_ =it A1200-0119 UNIVERSAL JOINT
*f':.'zs'.""..' g A1200-0120 GAUGE CANNULA
1 /" y P t— A1200-0121 HEXAGONAL WRENCH SW 5,0 MM
S BN 61 R N M T A1200-0122 DRILL SLEEVE @8-@5,2 MM
O beaateasil A1200-0123 SLEEVE (10-@8,0 MM

A1200-0124 LOCATION ROD
A1200-0125 FIXED CONNECTOR
A1200-0126 NAIL CONNECTOR
A1200-0127 PROXIMAL GUIDE
A1200-0128 DISTAL GUIDE
A1200-0129 SIGHTING DEVICE HANDLE
A1200-0130 GUIDE WIRE @2,0 MM
A1200-0131 ALUMINIUM BOX



A1200-0300
A1200-0301
A1200-0302
A1200-0303
A1200-0304
A1200-0305
A1200-0306
A1200-0307
A1200-0308
A1200-0309
A1200-0310
A1200-0311
A1200-0312
A1200-0313
A1200-0314
A1200-0315
A1200-0316
A1200-0317
A1200-0318
A1200-0319
A1200-0320
A1200-0321
A1200-0322
A1200-0323
A1200-0324
A1200-0325
A1200-0326
A1200-0327
A1200-0328
A1200-0329
A1200-0330
A1200-0331
A1200-0332
A1200-0333
A1200-0334

DISTAL FEMUR RETROGRADE & SHORT R PFN INTRAMEDULLARY NAIL INSTRUMENT SET

A1200-0400
A1200-0401
A1200-0402
A1200-0403
A1200-0404
A1200-0405
A1200-0406
A1200-0407
A1200-0408
A1200-0409
A1200-0410
A1200-0411
A1200-0412
A1200-0413
A1200-0414
A1200-0415
A1200-0416
A1200-0417
A1200-0418
A1200-0419
A1200-0420
A1200-0421
A1200-0422
A1200-0423
A1200-0424
A1200-0425
A1200-0426
A1200-0427
A1200-0428
A1200-0429
A1200-0430
A1200-0431
A1200-0432
A1200-0433
A1200-0434

a

FEMUR ANTEGRADE INTRAMEDULLARY NAIL
INSTRUMENT SET

UNIVERSAL JOINT OPEN WRENCH QUICK COUPLING T-
HANDLE SCREWDRIVER SW 3,5 MM TROCAR @8,0 MM
DEPTH GAUGE 10-100 MM T-HANDLE DRILL BIT @5,2
MM DRILL BIT @5,2X300 MM DRILL BIT WITH
LIMITATOR @4,0X300 DRILL BIT @4,0X300 MM
REAMER @10,0 MM REAMER @11,0 MM REAMER @12,0
MM REAMER @13,0 MM DRILL SLEEVE @5,2 MM
HEXAGONAL WRENCH SW 3,0 MM HEXAGONAL
WRENCH SW 5,0 MM DRILL SLEEVE @4,0 MM FEMUR
APPARATUS AWL HAMMER GUIDE ROD CONNECTOR
ROD FIXED CONNECTOR SIGHTING DEVICE HANDLE
BOLT M8X32L BOLT M8X41L NAIL CONNECTOR
LOCATION ROD LOCATION FORCEP CONNECTOR
DISTAL GUIDE GUIDE WIRE ALUMINIUM BOX

DISTAL FEMUR RETROGRADE & SHORT R PFN
INTRAMEDULLARY NAIL INSTRUMENT SET
GUIDE DRILL + SLEEVE GUIDE DRILL + SLEEVE
GUIDE DRILL + SLEEVE GUIDE DRILL + SLEEVE
FORCING CONE L- WRENCH LARGE L- WRENCH
SMALL T-HANDLE QUICK COUPLING SLEEVE + DRILL
BIT DRILL BIT WITH LIMITATOR ©@3,5 MM WIRE
DEPTH GAUGE DEPTH GAUGE L-SHAPED LOCATION
FORCEPS TAP WRENCH LOCATION FORCEPS AWL
GUIDE ROD K-WIRE STRAIGHT HANDLE T-
LOCATION FORCEPS IMPACTOR AND EXTRACTOR
UNIVERSAL JOINT REAMER @10,0 MM REAMER
?11,0 MM REAMER @12,0 MM REAMER @13,0 MM
GUIDE HANDLE WRENCH CONNECTOR ROD SCREW
BOLT REAMER @9,0 MM GUIDE WIRE ALUMINIUM
BOX

FEMUR ANTEGRADE INTRAMEDULLARY NAIL INSTRUMENT SET

[]
e —
=24,252627 3

oo T




NEW FEMORAL RECONSTRUCTION INTRAMEDULLARY NAIL INSTRUMENT SET

A1200-0800 NEW FEMORAL RECONSTRUCTION INTRAMEDULLARY
NAIL INSTRUMENT SET GUIDE WIRE FLEXIBLE REAMER

A1200-0801 CANNULATED REAMER @13,8 MM STOPPER FRACTURE
A1200-0802 ALLIGNMENT DEVICE T-TYPE PROTECTION SKIN BOARD DISTAL
A1200-0803 POSITIONING FRAME LOCKING WHEELS M8X1,0 MM SW5 SMALL
A1200-0804 CANNULATED PUNCH DEVICE FLEXIBLE REAMER BIT @8,5-@13
A1200-0805 MM LOCKING WHEELS M8X1 SW5 LARGE LONG NAIL DISTAL
A1200-0806 GUIDE BAR 2 LONG NAIL DISTAL CONNECTION GUIDE PIN LONG
A1200-0807 NAIL DISTAL GUIDE BAR AWL NAIL EXTRACTOR POSITIONING
[ faaa A1200-0808 CARD T-HANDLE WITH QUICK COUPLING WRENCH SW3 WRENCH
] | &l I A1200-0809 SW5 DRILL BIT @6,4 X 340 MM WITH STOPPER MEASURE
'.44- 0230474141 50 30 A1200-0810 DEVICE DEPTH GUIDE THREAD WIRE @2,5 X 320 MM KIRSCHNER
! : wa A1200-0811 WIRE @2,5 X 320 MM GUIDE PIN CONTROL DEVICE HANDLE NAIL
A1200-0812 LOCKING ROD SOFT TISSUE SEPERATION 138 MM T-HANDLE
A1200-0813 DRILL BIT @5.2MM FOR DISTAL ALLIGNMENT DEVICE SOFT
A1200-0814 TISSUE SEPERATION 173 MM T-HANDLE DISTAL ALIGNMENT
A1200-0815 DEVICE DRILL BIT @4,3 X 300 MM DRILL BIT @4,3 X 300 MM
A1200-0816 WITH STOPPER T-HANDLE HEXAGONAL SCREW DRIVER SW 6,5
A1200-0817 MM CONNECTING SCREW UNIVERSAL SPANNER SW 6.5 MM
A1200-0818 POSITIONING SLEEVE 120 MM T-HANDLE CANNULATED
A1200-0819 HEXAGONAL SCREW DRIVER SW 5,0 POSITIONING SLEEVE 155
A1200-0820 MM HEXAGONAL SCREW SHAFT SW5 LIMIT DEVICE @6,4 MM
A1200-0821 LIMIT DEVICE @4,3 MM LIMIT DEVICE @2,5 MM LIMIT DEVICE
A1200-0822 @5,2 MM T-HANDLE HEXAGONAL SCREW DRIVER SW 3,5 MM
A1200-0823 DRILL BIT @5.2 X 248 MM HEXAGONAL SCREW SHAFT SW 3,5
A1200-0824 MM ALUMINIUM BOX
A1200-0825
A1200-0826
A1200-0827
A1200-0828
A1200-0829
A1200-0830
A1200-0831
A1200-0832
A1200-0833
A1200-0834
A1200-0835
A1200-0836
A1200-0837
A1200-0838
A1200-0839

A1200-0840
A1200-0841
A1200-0842
A1200-0843
A1200-0844
A1200-0845
A1200-0846
A1200-0847




A1200-0700
A1200-0701
A1200-0702
A1200-0703
A1200-0704
A1200-0705
A1200-0706
A1200-0707
A1200-0708
A1200-0709
A1200-0710
A1200-0711
A1200-0712
A1200-0713
A1200-0714
A1200-0715
A1200-0716
A1200-0717
A1200-0718
A1200-0719
A1200-0720
A1200-0721
A1200-0722
A1200-0723
A1200-0724
A1200-0725
A1200-0726
A1200-0727
A1200-0728
A1200-0729
A1200-0730
A1200-0731
A1200-0732
A1200-0733
A1200-0734
A1200-0735
A1200-0736
A1200-0737
A1200-0738
A1200-0739
A1200-0740
A1200-0741
A1200-0742
A1200-0743
A1200-0744
A1200-0745
A1200-0746
A1200-0747
A1200-0748
A1200-0749
A1200-0750
A1200-0751
A1200-0752
A1200-0753
A1200-0754
A1200-0755
A1200-0756
A1200-0757
A1200-0758
A1200-0759
A1200-0760
A1200-0761
A1200-0762

APFNA FEMUR SHORT NAIL INSTRUMENT SET

APFNA FEMUR SHORT NAIL INSTRUMENT SET
TEMPLATE FOR DEVELOPMENT

GUIDE SLEEVE @16,5 MM T -
GUIDE PIN SLEEVE @16,5/@3,2 MM s5 | | | i
HANDLE WITH QUICK COUPLING 11 I :

PROXIMAL HOLLOW DRILL BIT @16,5/@3,2 MM J ! {F
HOLLOW OPEN TAPPER i F

PROTECTED PLATEFOR SOFT TISSUE

HANDLE

CONNECTING BOLT M10X1,5/SW 8,0 MM

UNIVERSAL WRENCH OF CONNECTING BOLT SW 8,0 MM
MAIN PIN IMPACTOR

OPEN WRENCH SW 11 MM

IMPACTOR HAMMER

PROXIMAL GUIDE BAR

GUIDE SLEEVE @11,2 MM

SUPPORT/COMPRESSION NUT

GUIDE SLEEVE FOR PINS @11,2/@3,2 MM

PINS @3,2

THREAD PIN @3,2X400 MM

DEPTH GAUGE @3,2 MM

PROXIMAL HOLLOW POSITION STOPPER @10,6/@3,2 MM
POSITION STOPPER

SCREWDRIVER M7X1 L/SW4,5/@3,2 MM

CONNECTOR

WRENCH

DISTAL GUIDE BAR 180 MM

DISTAL GUIDE BAR 240 MM

DISTAL 90 DEGREE GUIDE BAR 180/240 MM

DISTAL LOCKING PIN SLEEVE @11/@8,2 MM

SOFT TISSUE SEPERATING DEVICE @8,2/@4,3 MM
SLEEVE PIN @4,3 MM

DRILL BIT @4,3 MM

POSITION STOPPER @4,3/SW3

SMALL WRENCH SW3/@4,0

DISTAL LOCKING HOLES DEPTH GAUGE

DISTAL LOCKING SCREW WRENCH SW 3,5

TAIL HOOK GUIDE PIN @2,8 MM

TAIL HOLLOW SCREWDRIVER @2,8/SW6,5 /SW11

TAIL HOLLOW SLEEVE/EXTENSION ROD SW11

BLADE NAIL DEVICE M7X1 L/SW 4,5 MM

SLIDING HAMMER

NAIL REMOVE ROD M10X1,5 MM

REDUCTION ROD (GUIDE PIN LEADING DEVICE)

BALL HEAD GUIDE PIN @2,5/@4 MM

GUIDE PIN CONTROL DEVICE

SOFT EXPANSION TOOL ROD @2,5/@8 MM

SOFT EXPANSION METALLUTGY @8-@13 MM 0/ e e =
LONG NAIL DISTAL CONNECTION GUIDE PIN ’

LONG NAIL DISTAL CONNECTION GUIDE BAR LOCK WHEELS M8X1/SW5
LOCKING WHEEL SPANNER

LONG NAIL DISTAL GUIDE BAR

LONG NAIL DISTAL GUIDE PIN LOCKING WHEELS M8X1/SW5

LONG NAIL DISTAL POSITIONING FRAME

LONG NAIL DISTAL POSITIONING FRAME LOCK WHEELS M6/SW5
POSITIONING PIPE @10/@8,1MM ;
POSITIONING STEM BUSHING NEEDLE @8,1 MM - |=fiooass2ze”
POSITIONING STEM DRILLING SHEATH @8,1/@5,2 MM L E
POSITIONING DRILL ROD @5,2 MM S |E 1?
POSITIONING STEM FLATS DRILL @5,2 MM o R ’
POSITIONING ROD @8,1/@5,2 MM ey 1.“E &

=24
POSITIONING CARD i I
ALUMINIUM BOX

|
+ 15&
B s




ANT TIBIAL INTRAMEDULLARY NAIL INSTRUMENT SET

A1200-0900 ANT TIBIAL INTRAMEDULLARY NAIL INSTRUMENT SET

A1200-0901 HEXAGONAL SCREW HOLDER SW 3,5 MM T-HANDLE
. T A1200-0902 CONNECTING ROD UNIVERSAL DRIVER SW 6,5 MM T-HANDLE

A1200-0903 HEXAGONAL SCREW DRIVER SW 3,5 MM HEXAGONAL SCREW

A1200-0904 DRIVER SHAFT SW 3,5 MM RULER FOR PERFECT TIBIAL NAIL

A1200-0905 FRACTURE ALLIGNMENT DEVICE T-TYPE T-HANDLE DRILL BIT

A1200-0906 @52 MM FOR DISTAL ALLIGNMENT DEVICE DISTAL

A1200-0907 ALLIGNMENT DEVICE T-HANDLE DEPTH GAUGE PROTECTION

A1200-0908 SLEEVE WITH 3,2 DRILL SLEEVE & TROCAR PIN SOFT TISSUE

A1200-0909 SEPERATOR DRILL SLEEVE 8,0 X 5,2 MM DRILL SLEEVE 8,0 X 4,0

A1200-0910 MM DRILL STOPPER KEY SW 3,0 MM FRAME RODS LOCKING KEY

A1200-0911 SW 50 MM SMALL WRENCH COMBINATION WRENCH

A1200-0912 PROTECTION SLEEVE @ 12,0 MM REAMER SHAFT DRILL

A1200-0913 STOPPER @ 4,0 MM DRILL BIT @ 4,0 MM CANNULATED DRILL

A1200-0914 BIT @12,0 MM THREADED GUIDE WIRE @3,0X300 MM DRILL

A1200-0915 STOPPER @ 3,2 MM DRILL BIT @ 5,2 MM SKIN PROTECTER

A1200-0916 COMPRESSION BOLT CONNECTING SCREW CANNULATED T-

A1200-0917 HANDLE QUICK COUPLING T-HANDLE CONNECTING ROD

A1200-0918 SCREWDRIVER SW 6,5 MM CONNECTOR FOR INSERTION

A1200-0919 HANDLE PROTECTION SLEEVE 8,1 ID X 10 OD - 1 PROTECTION

A1200-0920 SLEEVE 8,1 ID X 10 OD - 2 CANNULATED AWL PROXIMAL

A1200-0921 AIMING ARM-ANGULAR PROXIMAL AIMING ARM DISTAL AIMING

A1200-0922 ARM SLIDING HAMMER GUIDE ROD CONNECTING PART OF

A1200-0923 DISTAL AIMING ARM CONNECTING BOLT @ 6,0 MM DISTAL JIG

A1200-0924 GUIDE NAIL EXTRACTOR GUIDE WIRE HOLDER INSERTION

A1200-0925 HANDLE CONNECTING BOLT @ 8,0 MM POSITIONING BLOCK

A1200-0926 FOR DISTAL ALLIGNMENT DEVICE CANNULATED CUTTER FOR

A1200-0927 PERFECT TIBIAL NAIL @ 12,0 MM SLIDING HAMMER REAMER

A1200-0928 HEAD GUIDE WIRE ALUMINIUM BOX

A1200-0929

A1200-0930

A1200-0931

A1200-0932

A1200-0933

A1200-0934

A1200-0935

A1200-0936

A1200-0937

A1200-0938

A1200-0939

A1200-0940

A1200-0941

A1200-0942

A1200-0943

A1200-0944

A1200-0945

A1200-0946

A1200-0947

A1200-0948

A1200-0949

A1200-0950

A1200-0951




TIBIAL INTRAMEDULLARY NAIL INSTRUMENT SET

A1200-0200 TIBIAL INTRAMEDULLARY NAIL INSTRUMENT SET

A1200-0201 UNIVERSAL JOINT

A1200-0202 SOFT TISSUE SEPERATOR
A1200-0203 QUICK COUPLING T-HANDLE
A1200-0204 FIXED CONNECTOR

A1200-0205 LOCATION ROD

A1200-0206 SCREWDRIVER

A1200-0207 T-HANDLE DRILL BIT 5,2 MM
A1200-0208 DEPTH GAUGE 10-100 MM
A1200-0209 DRILL BIT 5,2X300 MM
A1200-0210 DRILL BIT 4,0X300 MM
A1200-0211 DRILL BIT WITH LIMITATOR 4,0X300 MM
A1200-0212 GUIDE ROD

A1200-0213 REAMER 13,0 MM

A1200-0214 REAMER 12,0 MM

A1200-0215 REAMER 11,0 MM

A1200-0216 REAMER 10,0 MM

A1200-0217 REAMER 9,0 MM

A1200-0218 REAMER 8,0 MM

A1200-0219 DISTAL GUIDE

A1200-0220 SIGHTING DEVICE HANDLE
A1200-0221 PROXIMAL GUIDE

A1200-0222 AWL

A1200-0223 LOCATION FORCEPS
A1200-0224 DRILL SLEEVE 4,2-10 MM
A1200-0225 HEXAGONAL WRENCH HEX 5,0 MM
A1200-0226 HEXAGONAL WRENCH HEX 3,0 MM
A1200-0227 DRILL SLEEVE 5,4-10 MM
A1200-0228 BOLT M12X1,0 MM

A1200-0229 BOLT M8X1,0 MM LONG
A1200-0230 BOLT M8X1,0 MM

A1200-0231 NAIL CONNECTOR SOLID
A1200-0232 NAIL CONNECTOR CANNULATED
A1200-0233 OPEN WRENCH

A1200-0234 HAMMER

A1200-0235 GUIDE WIRE

A1200-0236 ALUMINIUM BOX



INTRAMEDULLARY NAIL REMOVAL INSTRUMENT SET

A1200-1200 INTRAMEDULLARY NAIL REMOVAL INSTRUMENT SET

A1200-1201 END CUP WRENCH 180 MM WRENCH WIRE CUTTER OPEN

A1200-1202 WRENCH HEXAGONAL SCREWDRIVER SW 4,5 MM HEXAGONAL

A1200-1203 SCREWDRIVER SW 5,0 MM LOCKING SCREW EXTRACTOR 250

A1200-1204 MM HEXAGONAL SCREWDRIVER SW 2,5 MM HEXAGONAL

A1200-1205 SCREWDRIVER SW 3,5 MM HEXAGONAL SCREWDRIVER SW

A1200-1206 4,0 MM T-HANDLE WITH QUICK COUPLING EXTRACTOR

A1200-1207 CHUCK UNIVERSAL LARGE EXTRACTOR CHUCK M6

A1200-1208 EXTRACTOR CHUCK SW 4,0 MM EXTRACTOR CHUCK SW 4,5

A1200-1209 MM EXTRACTOR CHUCK M10X1,0 MM EXTRACTOR CHUCK

A1200-1210 M8X1,0 MM EXTRACTOR CHUCK M8 EXTRACTOR CHUCK

A1200-1211 UNIVERSAL SMALL EXTRACTOR CHUCK M11 MM EXTRACTOR

A1200-1212 CHUCK M10 MM SAW BLADE SCREWDRIVER HAMMER

A1200-1213 UNIVERSAL JOINT ALUMINIUM BOX

A1200-1214
A1200-1215
A1200-1216
A1200-1217
: A1200-1218
ST s R e A1200-1219
.:—zln--.-_nl—:.-l’z.:—'-i: A5l HHET A1200-1220
—_’%0\--..—_ 1.7-'_'.+. e o g - A1200-1221
— 19— 16 - A1200'1222
g r . > . A1200-1223
A1200-1224
A1200-1225

ELASTIC NAIL INSTRUMENT SET

A1200-0600 ELASTIC NAIL INSTRUMENT SET

A1200-0601 HAMMER

A1200-0602 AWL

A1200-0603 EXTRACTION PLIERS
A1200-0604 DOUBLE DRILL SLEEVE @3,2-4,5 MM
A1200-0605 END CAP INSERTER LARGE
A1200-0606 END CAP INSERTER SMALL
A1200-0607 NAIL INSERTER
A1200-0608 DRILL BIT 2,7X130 MM
A1200-0609 DRILL BIT 3,2X150 MM
A1200-0610 DRILL BIT 4,5X190 MM
A1200-0611 BENDER 140°

A1200-0612 BENDER 130°

A1200-0613 STANDART TAMP
A1200-0614 BEVELED TAMP
A1200-0615 CUTTER

A1200-0616 HAMMER GUIDE
A1200-0617 KEY OF CUTTER

A1200-0618 ALUMINIUM BOX




A2200-0100
A2200-0101
A2200-0102
A2200-0103
A2200-0104
A2200-0105
A2200-0106
A2200-0107
A2200-0108
A2200-0109
A2200-0110
A2200-0111
A2200-0112
A2200-0113
A2200-0114
A2200-0115
A2200-0116
A2200-0117
A2200-0118
A2200-0119
A2200-0120
A2200-0121
A2200-0122
A2200-0123
A2200-0124
A2200-0125
A2200-0126
A2200-0127
A2200-0128
A2200-0129
A2200-0130
A2200-0131

ANTERIOR CERVICAL PLATE SYSTEM INSTRUMENT SET

ANTERIOR CERVICAL PLATE SYSTEM INSTRUMENT SET
SCREWDRIVER SLEEVE SCREWDRIVER SLEEVE DRILL BIT
DRILL BIT PLATE AND SCREW BOX CURETTE HEXAGONAL
SCREWDRIVER BRACE SCREWDRIVER AWL TAP NUT
SCREWDRIVER HEXAGONAL SCREWDRIVER HEXAGONAL
SCREWDRIVER PLATE HOLDING FORCEPS CERVICAL HOOK
CERVICAL HOOK GUIDE DISTRACTOR BRACE SCREW
LOCATION SCREW PLATE BENDER LOCATION SCREW

A2200-0200
A2200-0201
A2200-0202
A2200-0203
A2200-0204
A2200-0205
A2200-0206
A2200-0207
A2200-0208
A2200-0209
A2200-0210
A2200-0211
A2200-0212
A2200-0213
A2200-0214
A2200-0215
A2200-0216
A2200-0217
A2200-0218
A2200-0219
A2200-0220
A2200-0221
A2200-0222
A2200-0223

SPINAL PEDICLE SCREW SYSTEM INSTRUMENT SET

SPINAL PEDICLE SCREW SYSTEM INSTRUMENT SET
FEELER FOR SCREW CHANNEL STRAIGHT HEXAGONAL
SCREWDRIVER FOR SREW NUT TAP @4,0 MM TAP @5,0
MM SCREWDRIVER HEXAGONAL 3,5 MM FOR TAP @6,0 MM
TAP @7,0 MM FEELER FOR SCREW CHANNEL BENT SCREW
CUTTER FOR LONG ARM SCREW SCREW NUT HOLDER
HEXAGONAL CROSSLINK NUT HOLDER HEXAGONAL IN-
SITU BENDING IRON SCREWDRIWER FOR POLYAXIAL
SCREW SCREWDRIWER FOR MONOAXIAL SCREW TRAIL
ROD INSERT DEVICE FOR FIXATION PIN ROD PUSHERIAL
PARALLEL SPREADER PARALLEL COMPRESSOR ROD TWIST
PEDICLE PROBE STRAIGHT PEDICLE PROBE BENT AWL T-
HANDLE QUICK COUPLING ROD HOLDING FORCEPS ROD
BENDER COUNTER TORQUE FOR CUTTER ROD PUSHING
FORCEPS STRAIGHT HANDLE QUICK COUPLING COUNTER
TORQUE ALUMINIUM BOX

SCREWDRIVER ALUMINIUM BOX




POSTERIOR CERVICAL FIXATION SYSTEM INSTRUMENT SET

A2200-0300
A2200-0301
A2200-0302
A2200-0303
A2200-0304
A2200-0305
A2200-0306
A2200-0307
A2200-0308
A2200-0309
A2200-0310
A2200-0311
A2200-0312
A2200-0313
A2200-0314
A2200-0315
A2200-0316
A2200-0317
A2200-0318
A2200-0319
A2200-0320
A2200-0321
A2200-0322
A2200-0323
A2200-0324
A2200-0325
A2200-0326
A2200-0327
A2200-0328
A2200-0329
A2200-0330
A2200-0331
A2200-0332

POSTERIOR CERVICAL FIXATION SYSTEM
INSTRUMENT SET

DEPTH GAUGE 4-40 MM

DRILL BIT 2,7 MM

DRILL BIT 2,4 MM

TRAIL ROD

SCREWDRIVER HEXAGONAL 2,5 MM
TAP 24,0 MM

TAP @3,5 MM

NUT HOLDER

FEELER FOR SCREW CHANNEL BENT
FEELER FOR SCREW CHANNEL STRAIGHT
DISTRACTOR

IN-SITU BENDING IRON L

IN-SITU BENDING IRON R

T-HANDLE QUICK COUPLING

HOOK HOLDING FORCEPS

ROD HOLDING FORCEPS

GUIDE

SCREWDRIVER HEXAGONAL 2,5 MM
ROD PUSHING FORCEPS

STRAIGHT HANDLE QUICK COUPLING
INSERT DEVICE FOR FIXATION PIN
COUNTER TORQUE

SCREWDRIVER FOR POLYAXIAL SCREW
ROD BENDER

AWL

AWL

PROTECTION SLEEVE

DISTRACTION FORCEPS

ROD CUTTER

PARALLEL COMPRESSION FORCEPS
ROD TWIST

ALUMINIUM BOX

ANTERIOR THORACIC & LUMBAR PLATE SYSTEM INSTRUMENT SET

A2200-0400
A2200-0401
A2200-0402
A2200-0403
A2200-0404
A2200-0405
A2200-0406
A2200-0407
A2200-0408
A2200-0409
A2200-0410
A2200-0411
A2200-0412
A2200-0413
A2200-0414
A2200-0415
A2200-0416
A2200-0417
A2200-0418
A2200-0419
A2200-0420
A2200-0421
A2200-0422
A2200-0423

ANTERIOR THORACIC & LUMBAR PLATE SYSTEM
INSTRUMENT SET
CURVED GUIDE PIN
STRAIGHT GUIDE PIN
DRILL BIT

OBTURATOR

NUT DRIVER SW 8,0 MM
NUT DRIVER SW 8,0 MM
DRILL GUIDE

DETECTOR

HOLE ENLARGER

TAP 6,5 MM

SCREW HOLDING DRIVER
TAP 6 MM

SCREWDRIVER

UNIVERSAL SCREWDRIVER
SCREWDRIVER

CALIPERS

COMPRESSION CLAMP 3,0 MM
DISTRACTOR CLAMP
PLATE HOLDING CLAMP
HOLDING BOLT SW 8,0 MM
COMBINATION WRENCH
WRENCH SW 11 MM
ALUMINIUM BOX




A5200-0100
A5200-0104
A5200-0105
A5200-0103
A5200-0106
A5200-0107
A5200-0108
A5200-0110
A5200-0109
A5200-0113
A5200-0115
A5200-0117
A5200-0118
A5200-0119
A5200-0120
A5200-0121
A5200-0123
A5200-0125
A5200-0126
A5200-0127
A5200-0128
A5200-0129
A5200-0130
A5200-0131
A5200-0132
A5200-0133
A5200-0134
A5200-0135
A5200-0136
A5200-0137
A5200-0122

MINI RAIL EXTERNAL FIXATOR INSTRUMENT SET

MINI RAIL EXTERNAL FIXATOR INSTRUMENT SET

A5200-0200

AYFIX EXTERNAL FIXATOR INSTRUMENT SET

AYFIX EXTERNAL FIXATOR INSTRUMENT SET
HEXAGONAL WRENCH 6,0 MM HEXAGONAL
WRENCH 5,0 MM DRILL BIT @4,5X200 MM DRILL
BIT @4,5X180 MM DRILL BIT @3,5X160 MM DRILL
BIT @2,2X100 MM DRILL BIT @3,2X150 MM DRILL
BIT @2,7X130 MM DRILL BIT @3,5X180 MM T-
HANDLE WITH JACOB'S CHUCK (0-6 MM)
PROTECTION SLEEVE SMALL SCHANZ SLEEVE @3
SCHANZ SLEEVE @3,5 DRILL SLEEVE @2,2 DRILL
SLEEVE @2,7 TROCHAR SMALL TROCHAR SLEEVE
SMALL PROTECTION SLEEVE MEDIUM SCHANZ
SLEEVE @4,0 DRILL SLEEVE @3,2 TROCHAR
MEDIUM TROCHAR SLEEVE MEDIUM PROTECTION
SLEEVE LARGE SCHANZ SLEEVE @5,0 SCHANZ
SLEEVE @6,0 DRILL SLEEVE @3,5 DRILL SLEEVE
@4,5 TROCHAR LARGE TROCHAR SLEEVE LARGE
ALUMINIUM BOX

A600 12 120 0005 MINI RAIL FIXATOR SHORT

A600 12 120 0006 MINI RAIL FIXATOR MEDIUM

A600 12 120 0007 MINI RAIL FIXATOR LONG

A600 12 120 0002 MINI RAIL FIXATOR X LONG

A600 12 120 0009 MINI RAIL FIXATOR VERTICAL AXIS

A600 12 120 0008 MINI RAIL FIXATOR HORIZONTAL AXIS
A600 12 120 0010 MINI RAIL FIXATOR HORIZONTAL AXIS 90°

A5200-0209
A5200-0210
A5200-0211
A5200-0212
A5200-0213
A5200-0214
A5200-0215
A5200-0216
A5200-0217
A5200-0218
A5200-0219
A5200-0220
A5200-0221
A5200-0222
A5200-0223
A5200-0224
A5200-0225
A5200-0226
A5200-0227
A5200-0228
A5200-0229
A5200-0230
A5200-0231

HOZ?)Z

PROTECTION SLEEVE TROCHAR
DRILL SLEEVE @1,2 MM DRILL
SLEEVE @1,5 MM DRILL SLEEVE
?1,8 MM HEXAGONAL WRENCH
@3,0 MM DRILL BIT @1,2X70 MM
DRILL BIT @1,5X70 MM DRILL
BIT @1,8X80 MM SCHANZ SCREW
@1,5 MM SCHANZ SCREW @1,5
MM SCHANZ SCREW @2,0 MM
SCHANZ SCREW @2,0 MM
SCHANZ SCREW @25 MM
SCHANZ SCREW @2,5 MM T-
HANDLE WITH JACOB'S CHUCK
TROCHAR  SLEEVE  SCHANZ
SLEEVE @1,5 MM SCHANZ
SLEEVE @2,0 MM SCHANZ
SLEEVE @2,5 MM DRILL BIT @1,2
X90 MM DRILL BIT @1,5X90 MM
DRILL BIT @1,8 X100 MM
ALUMINIUM BOX




TUBULAR EXTERNAL FIXATOR INSTRUMENT SET-SMALL

A5200-1300 TUBULAR EXTERNAL FIXATOR INSTRUMENT SET
A600 11 006 0001 TUBULAR FIXATOR ROD-ROD CLAMP 5,0 MM A600 11
006 0002 TUBULAR FIXATOR ROD-PIN CLAMP 5,0 MM A600 11 006
0003 TUBULAR FIXATOR MULTIPLE PIN CLAMP 5,0 MM A600 11 006
0004 TUBULAR FIXATOR MULTIPLE PIN T CLAMP 5,0 MM A600 29 121
0120 TUBULAR FIXATOR 30° ANGLED SUPPORT 5,0 MM A600 11 005
0004 TUBULAR FIXATOR STRAIGHT SUPPORT 5,0 MM A101 03 090
2712 MATKAP UCU (DRILL) 2,7 X 130 MM A101 03 090 2212 MATKAP
UCU (DRILL) 2,2 X 100 MM A101 03 090 0020 MATKAP UCU (DRILL) 1,7
X 80 MM A100 03 090 6030 SCHANZ VIDASI (SCHANZ SCREW) 3,5 X
130 MM A100 03 090 3115 SCHANZ VIDASI (SCHANZ SCREW) 3,0 X 100
MM A100 03 091 6020 SCHANZ VIDASI (SCHANZ SCREW) 2,5 X 80 MM
A600 11 005 0050 TUBULAR FIXATOR ROD CARBON 5,0 X 50 MM A600
11 005 0100 TUBULAR FIXATOR ROD CARBON 5,0 X 100 MM A600 11
005 0150 TUBULAR FIXATOR ROD CARBON 5,0 X 200 MM A600 11 005
0250 TUBULAR FIXATOR ROD CARBON 5,0 X 250 MM

A5200-1317 @2,7 MM DRILL SLEEVE
A5200-1318 @2,2 MM DRILL SLEEVE
A5200-1319 @1,7 MM DRILL SLEEVE
A5200-1320 @3,5 MM SCHANZ SLEEVE
A5200-1321 @3,0 MM SCHANZ SLEEVE
A5200-1322 @2,5 MM SCHANZ SLEEVE
A5200-1323 PROTECTION SLEEVE
A5200-1324 TROCHAR

A550 01 091 0633 T-HANDLE WITH JACOB’S CHUCK ( 0-6,0 MM)
A5200-1326 WRENCH

A5200-1327 HEXAGONAL WRENCH 4,0 MM
A5200-1328 ALUMINUM BOX

TUBULAR EXTERNAL FIXATOR INSTRUMENT SET-MEDIUM

A5200-2300 TUBULAR EXTERNAL FIXATOR INSTRUMENT SET)-MEDIUM
A600 11 014 0001 TUBULAR FIXATOR ROD-ROD CLAMP 8,0 MM A600 11
014 0002 TUBULAR FIXATOR ROD-PIN CLAMP 8,0 MM A600 11 014 0003
TUBULAR FIXATOR MULTIPLE PIN CLAMP 8,0 MM A600 11 014 0004
TUBULAR FIXATOR MULTIPLE PIN T CLAMP 8,0 MM A600 29 121 0080
TUBULAR FIXATOR 30° ANGLED SUPPORT 8,0 MM A600 11 008 0004
TUBULAR FIXATOR STRAIGHT SUPPORT 8,0 MM A101 03 090 3212 DRILL
3,2 MM A101 03 090 0045 DRILL 3,5 MM A100 03 090 4011 SCHANZ SCREW
@4,0 X 150 MM A100 03 090 4517 SCHANZ SCREW 4,5 X 150 MM A100 03
090 5013 SCHANZ SCREW 5,0 X 160 MM A100 03 090 5013 SCHANZ SCREW
5,0 X 180 MM A600 11 008 0100 TUBULAR FIXATOR ROD CARBON 8,0 X
100 MM A600 11 008 0150 TUBULAR FIXATOR ROD CARBON 8,0 X 180 MM
A600 11 008 0200 TUBULAR FIXATOR ROD CARBON 8,0 X 200 MM A600 11
008 0250 TUBULAR FIXATOR ROD CARBON) 8,0 X 250 MM A600 10 151
0160 TUBULAR FIXATOR SEMI CIRCULAR ROD 8,0 X 160 MM A600 10 151
0180 TUBULAR FIXATOR SEMI CIRCULAR ROD 8,0 X 180 MM A600 10 151
0200 TUBULAR FIXATOR SEMI CIRCULAR ROD 8,0 X 200 MM

A5200-2301 @3,2 MM DRILL SLEEVE @3,5 MM DRILL
A5200-2302 SLEEVE @4,0 MM SCHANZ SLEEVE @4,5 MM
A5200-2303 SCHANZ SLEEVE @5,0 MM SCHANZ SLEEVE
A5200-2304 PROTECTION SLEEVE TROCHAR T-HANDLE
A5200-2305 WITH JACOBS CHUK ( 0-6,0 MM)
A5200-2306 HEXAGONAL WRENCH 4,0 MM WRENCH
A5200-2307 ALUMINUM BOX

A5200-2308

A5200-2309

A5200-2310

A5200-2311



TUBULAR EXTERNAL FIXATOR INSTRUMENT SET-LARGE

A5200-3300 TUBULAR EXTERNAL FIXATOR INSTRUMENT SET)-LARGE

A600 11 010 0001 TUBULAR FIXATOR ROD-ROD CLAMP 10 MM A600 11
010 0002 TUBULAR FIXATOR ROD-PIN CLAMP 10 MM A600 11 010 0003
TUBULAR FIXATOR MULTIPLE PIN CLAMP 10 MM A600 11 010 0004
TUBULAR FIXATOR MULTIPLE PIN T CLAMP 10 MM A600 29 121 0100
TUBULAR FIXATOR 30° ANGLED SUPPORT 10 MM A600 11 010 0007
TUBULAR FIXATOR STRAIGHT SUPPORT 10 MM A101 03 090 0045 MATKAP
UCU (DRILL) 3,5 X 160 MM A101 03 090 0045 MATKAP UCU (DRILL) 3,5 X
180 MM A101 03 090 4512 MATKAP UCU (DRILL) 4,5 X 180 MM A101 03
090 4512 MATKAP UCU (DRILL) 4,5 X 200 MM A100 03 090 5515 SCHANZ
VIDASI (SCHANZ SCREW) 5,0 X 160 MM A100 03 090 5515 SCHANZ VIDASI
(SCHANZ SCREW) 5,0 X 180 MM A100 03 090 6012 SCHANZ VIDASI
(SCHANZ SCREW) 6,0 X 180 MM A100 03 090 6012 SCHANZ VIDASI
(SCHANZ SCREW) 6,0 X 200 MM A600 11 010 0150 TUBULAR FIXATOR ROD
CARBON 10 X 150 MM A600 11 010 0200 TUBULAR FIXATOR ROD CARBON
10 X 200 MM A600 11 010 0250 TUBULAR FIXATOR ROD CARBON 10 X 250
MM A600 11 010 0300 TUBULAR FIXATOR ROD CARBON 10 X 300 MM A600
10 121 0160 TUBULAR FIXATOR SEMI CIRCULAR ROD 10 X 160 MM A600
10 121 0180 TUBULAR FIXATOR SEMI CIRCULAR ROD 10 X 180 MM A600
10 121 0200 TUBULAR FIXATOR SEMI CIRCULAR ROD 10 X 200 MM

A5200-3301 @3,5 MM DRILL SLEEVE @4,5 MM DRILL
A5200-3302 SLEEVE @5,0 MM SCHANZ SLEEVE @6,0 MM
A5200-3303 SCHANZ SLEEVE PROTECTION  SLEEVE
A5200-3304 TROCHAR T-HANDLE WITH JACOB’S CHUCK (
A5200-3305 0-6,0 MM) HEXAGONAL WRENCH 4,0 MM
A5200-3306 WRENCH ALUMINUM BOX

A5200-3307

A5200-3310

A5200-3308

A5200-3309




ILIZAROV CIRCULAR EXTERNAL FIXATOR INSTRUMENT SET

A5200-0500 ILIZAROV CIRCULAR EXTERNAL FIXATOR INSTRUMENT SET

A600 10 120 0080 HALF RINGS ALUMINIUM S 80 MM

A600 10 120 0100 HALF RINGS ALUMINIUM S 100 MM

A600 10 120 0120 HALF RINGS ALUMINIUM S 120 MM

A600 10 120 0140 HALF RINGS ALUMINIUM S 140 MM

A600 10 120 0160 HALF RINGS ALUMINIUM S 160 MM

A600 10 120 0180 HALF RINGS ALUMINIUM S 180 MM

A600 10 120 0200 HALF RINGS ALUMINIUM S 200 MM

A601 10 160 0090 FEM ARCHES ALUMINIUM ALLOY 90° X 160 MM
A601 10 013 0000 MULTIPLE PIN FIXATIONCLAMPS

2680 18 688 8809 BBHBUE SHRRORT CONNECTER 38 MM

A600 10 001 0001 ADJUSTABLE CLAMP

A600 10 071 0100 TELESCOPIC RODS 100 MM

A600 10 071 0125 TELESCOPIC RODS 125 MM AG01 10 099 0015
MALE HALF HINGE AG01 10 099 0020 FEMALE HALF HINGE

A601 10 099 0010 DOUBLE FEMALE HINGE

A600 10 090 0000 CANNULLETAD BOLT

PEA 10 DAMBEQ SHIBHE BIN FEXATION BOLT A600 10 065 0000
AG00 10 065 0002 FEMALE CLAMPS ( SUPPORT ) 2 HOLE

AG00 10 065 0003 FEMALE CLAMPS ( SUPPORT ) 3 HOLE

A600 10 060 0112 MALE CLAMPS (SUPPORT) 1 HOLE

A600 10 060 0222 MALE CLAMPS (SUPPORT) 2 HOLE

A600 10 060 0332 MALE CLAMPS (SUPPORT) 3 HOLE

A600 10 020 0016 CONNECTION BOLTS M6X25

A600 10 050 2035 CONNECTING PLS 2 H

A600 10 050 3050 CONNECTING PLS 3 H

AB00 10 050 4060 CONNECTING PLS 4 H

AG00 14 000 1150 90° ANGULAR PLS 2H 50 MM

AG00 14 000 1175 90° ANGULAR PLS 4H 75 MM

A601 15 000 0000 UNIVERSAL HINGE
A601 15 000 0020 CURVED PL A600 14 002 0001 SGUARE SOCKET 1

H A600 14 002 0002 S@UARE SOCKET 2 H A600 14 002 0003
S@UARE SOCKET 3 H A600 10 054 0046 TWISTED PLS 2 H A600 10
054 0067 TWISTED PLS 3 H A110 04 000 0014 WASHER SS 14 MM
A600 10 031 0012 OVAL WASHER 12MM A600 10 110 0001 CONIiCAL A600 10 100 2040 TROCAR POINTED WIRE 2.0X400 MM A100 03 090 5013 SCHANZ
WASHER A600 10 032 0000 STAR WASHER A600 10 091 0000 NUT SCREW @ 5,0 MM THREAD L 45 MM L 160 MM (CANC.) A100 03 090 5013 SCHANZ

M6 A600 10 034 0000 SLOTTED WASHER A600 10 050 0075 SCREW @ 5,0 MM THREAD L 45 MM L180 MM (CANC.) A100 03 090 5013 SCHANZ SCREW
THREADED RODS 75 MM A600 10 050 0100 THREADED RODS 100 @ 5,0 MM THREAD L 45 MM L 160 MM A100 03 090 5013 SCHANZ SCREW @ 5,0 MM

MM A600 10 050 0125 THREADED RODS 125 MM A600 10 050 0150 THREAD L 45 MM L 180 MM A600 11 111 0180 SCHANZ SCREW @ 6,0 MM L 180 MM (
THREADED RODS 150 MM A600 10 050 0115 THREADED RODS 115 CANC. ) A600 11 110 0180 SCHANZ SCREW @ 6,0 MM L 180 MM ( CORT. ) A600 11 111
MM A600 10 050 0175 THREADED RODS 175 MM A600 10 050 0200 0200 SCHANZ SCREW @ 6,0 MM L 200 MM ( CANC. ) A600 11 110 0200 SCHANZ SCREW
THREADED RODS 200 MM A600 10 050 0250 THREADED RODS 250 @ 6,0 MM L 200 MM ( CORT. ) A600 10 188 2040 OLIVE WIRE 2.0X400 MM A600 11 014
MM A600 10 050 0300 THREADED RODS 300 MM A101 03 090 3512 0005 HYBIRD EXTERNAL FIX(MEDIUM)-HIiBRIT HARICI FIXATOR FEMUR-

DRILL 3,5X160 MM A101 03 090 3512 DRILL 3,5X180 MM A101 03

090 4512 DRILL 4,5X180 MM A101 03 090 4512 DRILL 4.5X200 MM

A5200-0501
A5200-0502 TIBIA (HYBRID EXTERNAL FIXATOR FEMUR-TIBIA)

A5200-0503 WRENCH  WITH  OPEN-CIRCULAR  ENDS
A5200-0504 HEXAGONAL WRENCH 6,0 MM PROTECTION
A5200-0506 SLEEVE GUIDE TROCAR T-HANDLE WITH JACOB'S
ﬁggggzgggg CHUCK SMALL DOUBLE ENDED OFFSET SOCKET
A5200-0511 WRENCH WIRE TENSIONER 0014 HEXAGONAL
A5200-0513 WRENCH 4 MM @4,5 MM DRILL SLEEVE 33,5 MM
A5200-0514 DRILL SLEEVE 35,0 MM SCHANZ SLEEVE @6,0 MM
A5200-0515 SCHANZ SLEEVE HEXAGONAL WRENCH 3,0 MM

A5200-0516
A5200-0518 ALUMINUM BOX

A5200-0517



PEDIATRIC ILIZAROV CIRCULAR EXTERNAL FIXATOR INSTRUMENT SET

A5200-0600 PEDIATRIC ILIZAROV CIRCULAR EXTERNAL FIXATOR
INSTRUMENT SET

A601 16 000 0020 PEDIATRIC CURVED PL

A601 16 000 0000 PEDIATRIC UNIVERSAL HINGE

A600 11 050 2035 PEDIATRIC CONNECTING PLS - 2 HOLE

A600 11 050 3050 PEDIATRIC CONNECTING PLS - 3 HOLE

A600 11 050 4060 PEDIATRIC CONNECTING PLS - 4 HOLE

A600 11 054 0046 PEDIATRIC TWISTED PL 2 H

A600 11 054 0067 PEDIATRIC TWISTED PL 3 H

A600 14 001 1150 PEDIATRIC 90° ANGULAR PL - 2 HOLE

A600 14 001 1175 PEDIATRIC 90° ANGULAR PL - 4 HOLE

A600 11 060 0112 PEDIATRIC MALE CLAMPS ( SUPPORT ) 1H

A600 11 060 0222 PEDIATRIC MALE CLAMPS ( SUPPORT ) 2H

A600 11 060 0332 PEDIATRIC MALE CLAMPS ( SUPPORT ) 3 H

A600 11 065 0000 PEDIATRIC FEMALE CLAMPS (SUPPORT) 1H

A600 11 065 0002 PEDIATRIC FEMALE CLAMPS (SUPPORT) 2 H

A600 11 065 0003 PEDIATRIC FEMALE CLAMPS (SUPPORT) 3 H

A600 11 020 0012 PETRIATRIC CONNECTION BOLTS M5 12 MM

A600 11 020 0012 PETRIATRIC CONNECTION BOLTS M5 12 MM

A600 11 020 0020 PETRIATRIC CONNECTION BOLTS M5 20 MM

A600 11 020 0030 PETRIATRIC CONNECTION BOLTS M5 30 MM

A600 11 021 0000 PEDIATRIC NUT M5

A600 11 030 0101 PEDIATRIC WASHER

A600 11 031 0101 PEDIATRIC OVAL WASHER

A600 11 032 0000 PEDIATRIC CONICAL WASHER

A600 11 032 0000 PEDIATRIC STAR WASHER

A600 11 034 0000 PEDIATRIC SLOTTED WASHER

A600 11 090 0000 PEDIATRIC CANNULATED BOLT

A601 11 099 0010 PEDIATRIC DOUBLE FEMALE HINGE

A601 11 099 0015 PEDIATRIC MALE HALF HINGE

A601 11 099 0020 PEDIATRIC FEMALE HALF HINGE

A600 11 072 0001 PEDIATRIC TELESCOPIC ROD 100 MM

A600 11 072 0002 PEDIATRIC TELESCOPIC ROD 150 MM

A600 11 050 0040 PEDIATRIC TH. RODS 40 MM

A600 11 050 0050 PEDIATRIC TH. RODS 50 MM

A600 11 050 0060 PEDIATRIC TH. RODS 60 MM

A600 11 050 0080 PEDIATRIC TH. RODS 80 MM

A600 11 050 0090 PEDIATRIC TH. RODS 90 MM

A600 11 050 0100 PEDIATRIC TH. RODS 100 MM

A600 11 050 0120 PEDIATRIC TH. RODS 120 MM

A600 11 050 0150 PEDIATRIC TH. RODS 150 MM

A600 11 050 0180 PEDIATRIC TH. RODS 180 MM

A600 11 121 0070 PEDIATRIC HALF RINGS 70 MM A600
11 121 0080 PEDIATRIC HALF RINGS 80 MM A600 11
121 0090 PEDIATRIC HALF RINGS 90 MM A600 11 121
0100 PEDIATRIC HALF RINGS 100 MM A600 11 121 0110
PEDIATRIC HALF RINGS 110 MM A600 11 121 0120
PEDIATRIC HALF RINGS 120 MM A601 11 110 0120
PEDIATRIC FEM ARCHES 120°-110 A600 25 001 0025
HYBIRD EXTERNAL FIXATOR WRIST A401 01 011 0001 T
HANDLE JACOBS CHUCK LARGE

A100 03 090 3115 SCHANZ SCREW @3 - 100 MM A5200-0606 DOUBLE ENDED OFFSET SOCKET WRENCH 8/8
A100 03 090 3115 SCHANZ SCREW @3,5 - 130 MM A5200-0605 WRENCH 9/8 MM (WRENCH WITH TWO OPEN ENDS)
A100 03 090 4011 SCHANZ SCREW @4 - 150 MM A5200-0611 PROTECTION SLEEVE GUIDE WIRE TENSIONER
A101 03 090 0027 DRILL 2.2 MM - 100 MM A5200-0612 HEXAGONAL WRENCH 2,5 MM HEXAGONAL WRENCH
A101 03 090 0032 DRILL 2.7 MM - 130 MM A5200-0618 3,0 MM HEXAGONAL WRENCH 4,0 MM HEXAGONAL
A101 03 090 0045 DRILL 3.2 MM - 150 MM A5200-0619 WRENCH 5,0 MM TROCHAR SLEEVE FOR 2,2 DRILL
A600 11 099 0001 PEDIATRIC SINGLE PIN FIXATION BOLT A5200-0620 SLEEVE FOR 2,7 DRILL SLEEVE FOR 3,2 DRILL

A5200-0621 SLEEVE FOR 3,0 SCHANZ SCREW SLEEVE FOR 3,5

A600 11 100 1525 PEDIATRIC TROCAR POINTED WIRE 1,5X250
A600 11 188 1525 PEDIATRIC OLIVE WIRE 1,5X250 A5200-0622 iELI-JICI'I\II\%Usl\E Fé%V)\é SLEEVE FOR 4,0 SCHANZ SCREW

A600 16 002 0002 PEDIATRIC SQUARE SOCKET-2H A5200-0623

A600 16 002 0003 PEDIATRIC SQUARE SOCKET-3H A5200-0624
AG00 11 080 0000 PEDIATRIC OBLIQUE SUPPORT CONNEKTOR-25 MM~ A2200-0625
AG00 11 080 0001 PEDIATRIC OBLIQUE SUPPORT CONNEKTOR-50 MM~ 22000626
AG01 11 014 0000 PEDIATRIC MULTIPLE PIN FIXATIONCLAMPS A5200-0627

A5200-0628

A600 11 002 0002 PEDIATRIC ADJUSTABLE CLAMP AB200-0617



HYBRID EXTERNAL FIXATOR IN UMENT SET

A5200-0400 HYBRID EXTERNAL FIXATOR INSTRUMENT SET

A600 11 007 0013 HYBRID FIXATOR ALUMINIUM 2/3 RING - 135

A600 11 007 0013 HYBRID FIXATOR ALUMINIUM 2/3 RING - 135

A600 11 007 0014 HYBRID FIXATOR ALUMINIUM 2/3 RING - 155

A600 11 007 0015 HYBRID FIXATOR ALUMINIUM 2/3 RING - 175

A600 11 007 0016 HYBRID FIXATOR ALUMINIUM 2/3 RING - 195

A600 11 007 0018 HYBRID FIXATOR ALUMINIUM 2/3 RING - 215

A600 11 008 0013 HYBRID FIXATOR ALUMINIUM 1/3 RING - 135

A600 11 008 0014 HYBRID FIXATOR ALUMINIUM 1/3 RING - 155

A600 11 008 0017 HYBRID FIXATOR ALUMINIUM 1/3 RING - 175

A600 11 008 0011 HYBRID FIXATOR ALUMINIUM 1/3 RING - 195

A600 11 008 0018 HYBRID FIXATOR ALUMINIUM 1/3 RING - 215

A600 11 008 0026 HYBRID FIXATOR THREE HOLE SLIDING WIRE CLAMP

A600 10 030 0012 WASHER -12

A600 10 153 0001 HYBRID FIXATOR TWO HOLE WIRE SECURING PIN

A600 10 188 2030 OLIVE WIRE - 2,0X300

A600 10 188 2040 OLIVE WIRE - 2,0X400

A600 10 100 2030 TROCAR POINTED WIRE - 2,0X300

A600 10 100 2030 TROCAR POINTED WIRE - 2,0X400

A600 11 008 0024 HYBRID FIXATOR INDEPENDENT WIRE CLAMP

A600 11 008 0025 HYBRID FIXATOR SUPPLEMENTARY PIN HOLDER CLAMP @6-6
A600 11 008 0025 HYBRID FIXATOR SUPPLEMENTARY PIN HOLDER CLAMP @6-5
A600 11 008 0025 HYBRID FIXATOR SUPPLEMENTARY PIN HOLDER CLAMP @6-4
A600 11 006 0060 HYBRID FIXATOR CARBON ROD - 50 MM

A5200-0423 HYBRID FIXATOR CARBON ROD - 75 MM

A5200-0424 HYBRID FIXATOR CARBON ROD - 100 MM
A5200-0425 HYBRID FIXATOR CARBON ROD - 115 MM
A5200-0426 HYBRID FIXATOR CARBON ROD - 125 MM
A5200-0429 HYBRID FIXATOR CARBON ROD - 150 MM
A5200-0430 HYBRID FIXATOR CARBON ROD - 175 MM
A5200-0431 HYBRID FIXATOR CARBON ROD - 200 MM
A5200-0432 HYBRID FIXATOR CARBON ROD - 250 MM
A5200-0433 HYBRID FIXATOR CARBON ROD - 300 MM

A600 10 090 0000 WIRE FIXATION BOLT

A600 11 008 0021 HYBRID FIXATOR STRAIGHT POSTS - 50 MM
A600 11 008 0021 HYBRID FIXATOR STRAIGHT POSTS - 60 MM
A600 11 008 0021 HYBRID FIXATOR STRAIGHT POSTS - 70 MM
A600 11 008 0022 HYBRID FIXATOR 45° STRAIGHT POSTS - 50 MM
A600 11 008 0022 HYBRID FIXATOR 45° STRAIGHT POSTS - 60 MM
A600 11 008 0022 HYBRID FIXATOR 45° STRAIGHT POSTS - 70 MM
A600 10 099 0001 HALF PIN UNIVERSAL RETAINING BOLT

A600 10 020 0025 CONNECTION BOLT (M6) - 25 MM

A600 10 020 0030 CONNECTION BOLT (M6) - 30 MM

A600 10 032 0000 SPIKED WASHER

A600 10 021 0000 NUT M6

A600 11 007 0012 HYBRID FIXATOR SINGLE PIN CLAMP

A600 11 008 0019 HYBRID FIXATOR HINGE CLAMP

A600 11 007 0023 HYBRID FIXATOR KIT

A600 11 007 0021 HYBRID FIXATOR TELESCOPIC REDUCTION UNIT
A600 14 002 0002 SQUARE SOCKET - 2 HOLE

A600 14 002 0003 SQUARE SOCKET - 3 HOLE

A600 11 050 2251 HYBRID FIXATOR EXTENSION PLATE

A600 10 050 0050 THREADED ROD (M6) - 50 MM

A600 10 050 0075 THREADED ROD (M6) - 75 MM

A600 10 050 0100 THREADED ROD (M6) - 100 MM

A600 10 050 0115 THREADED ROD (M6) - 115 MM

A600 10 050 0125 THREADED ROD (M6) - 125 MM

A600 10 050 0150 THREADED ROD (M6) - 150 MM

A600 10 050 0175 THREADED ROD (M6) - 175 MM

A600 10 050 0200 THREADED ROD (M6) - 200 MM

A600 10 050 0250 THREADED ROD (M6) - 250 MM

A600 10 050 0300 THREADED ROD (M6) - 300 MM

A5200-0401 SCHANZ SCREW @4,0X150 MM
A5200-0402 SCHANZ SCREW @5,0X180 MM
A5200-0403 SCHANZ SCREW @6,0X200 MM
A5200-0404 DRILL @3,2X150 MM
A5200-0405 DRILL @3,5X180 MM
A5200-0406 DRILL @4,5X200 MM
A5200-0407 PROTECTION SLEEVE
A5200-0408 TROCAR

A5200-0409 SCHANZ SLEEVE @4
A5200-0410 SCHANZ SLEEVE @5
A5200-0411 SCHANZ SLEEVE @6
A5200-0412 DRILL SLEEVE @3,2
A5200-0413 DRILL SLEEVE @3,5
A5200-0414 DRILL SLEEVE @4,5
A5200-0415 T-HANDLE WITH JACOB’ S CHUCK
A5200-0416 WRENCH 10/10

A5200-0417 DOUBLE ENDED OFFSET SOCKET WRENCH 10/10
A5200-0418 HEXAGONAL WRENCH - @2
A5200-0419 HEXAGONAL WRENCH - @3
A5200-0420 HEXAGONAL WRENCH - @4
A5200-0421 HEXAGONAL WRENCH - @5
A5200-0422 HEXAGONAL WRENCH - @6
A5200-0434 WIRE TENSIONER
A5200-0438

ALUMINUM BOX



A4200-1200
A4200-1201
A4200-1202
A4200-1203
A4200-1204
A4200-1205
A4200-1206
A4200-1207
A4200-1208
A4200-1209
A4200-1210
A4200-1211
A4200-1212
A4200-1213
A4200-1214
A4200-1215
A4200-1216
A4200-1217
A4200-1218
A4200-1219
A4200-1220
A4200-1221
A4200-1222
A4200-1223
A4200-1224
A4200-1225
A4200-1226
A4200-1227
A4200-1228
A4200-1229
A4200-1230
A4200-1231
A4200-1232
A4200-1233
A4200-1234

3,0/3,5/4,0/5,0/6,5 MM HEADLESS
COMPRESSION SCREW INSTRUMENT SET

0,8 MM SINGLE TROCAR GUIDE WIRE

@1,0 MM SINGLE TROCAR GUIDE WIRE

@1,5 MM SINGLE TROCAR GUIDE WIRE

@2,0 MM SINGLE TROCAR GUIDE WIRE

@2,0 MM THREADED TROCAR GUIDE WIRE

@2,0 MM CANNULATED DRILL BIT

@2,6 MM CANNULATED DRILL BIT

@3,4 MM CANNULATED DRILL BIT

@4,5 MM CANNULATED DRILL BIT

CANNULATED PROFIL DRILL FOR @3,0 MM SCREW
CANNULATED PROFIL DRILL FOR @3,5 MM SCREW
CANNULATED PROFIL DRILL FOR @4,0 MM SCREW
CANNULATED PROFIL DRILL FOR @5,0 MM SCREW
CANNULATED PROFIL DRILL FOR @6,5 MM SCREW
CANNULATED HEXAGONAL QUICK COUPLING SW 1,5 MM
CANNULATED HEXAGONAL QUICK COUPLING SW 2,0 MM
CANNULATED HEXAGONAL QUICK COUPLING SW 2,5 MM
CANNULATED HEXAGONAL QUICK COUPLING SW 3,0 MM
CANNULATED HEXAGONAL QUICK COUPLING SW 3,5 MM
HEXAGONAL QUICK COUPLING SW 1,5 MM

HEXAGONAL QUICK COUPLING SW 2,0 MM

HEXAGONAL QUICK COUPLING SW 2,5 MM

HEXAGONAL QUICK COUPLING SW 3,0 MM

HEXAGONAL QUICK COUPLING SW 3,5 MM

PARALEL WIRE GUIDE 3,0-3,5-4,0 MM

PARALEL WIRE GUIDE 5,0-6,5 MM

SCREW FORCEPS

MEASURING DEVICE 3,0-3,5-4,0 MM

MEASURING DEVICE 5,0-6,5 MM

T-HANDLE WITH QUICK COUPLING

I-HANDLE WITH QUICK COUPLING

SHARP HOOK

MINI BOX

ALUMINIUM BOX

3,0/3,5/4,0 MM HEADLESS COMPRESSION SCREW INSTRUMENT SET

A4201-1200

A4201-1201
A4201-1202
A4201-1206
A4201-1207
A4201-1210
A4201-1211
A4201-1212
A4201-1215
A4201-1216
A4201-1217
A4201-1220
A4201-1221
A4201-1222
A4201-1234
A4201-1235
A4201-1227
A4201-1228
A4201-1231
A4201-1237
A4201-1238

3,0/3,5/4,0 MM HEADLESS COMPRESSION SCREW
INSTRUMENT SET @0,8 MM SINGLE TROCAR GUIDE
WIRE @1,0 MM SINGLE TROCAR GUIDE WIRE @2,0 MM
CANNULATED DRILL BIT @2,6 MM CANNULATED DRILL
BIT CANNULATED PROFIL DRILL FOR @3,0 MM SCREW
CANNULATED PROFIL DRILL FOR @3,5 MM SCREW
CANNULATED PROFIL DRILL FOR @4,0 MM SCREW
CANNULATED HEXAGONAL QUICK COUPLING SW 1,5 MM
CANNULATED HEXAGONAL QUICK COUPLING SW 2,0 MM
CANNULATED HEXAGONAL QUICK COUPLING SW 2,5 MM
HEXAGONAL QUICK COUPLING SW 1,5 MM HEXAGONAL
QUICK COUPLING SW 2,0 MM HEXAGONAL QUICK
COUPLING SW 2,5 MM PROFIL DRILL SLEEVE FOR
3,0/3,5/4,0 MM PROFIL DRILL DRILL&WIRE SLEEVE FOR
2,0/2,7 DRILL /0,8/1,0 WIIRE SCREW FORCEPS
MEASURING DEVICE 3,0-3,5-4,0 MM I-HANDLE WITH
QUICK COUPLING MINI BOX ALUMINIUM BOX

|
il




5,0/6,5 MM HEADLESS COMPRESSION SCREW INSTRUMENT SET

A4202-1200

A4202-1203
A4202-1204
A4202-1205
A4202-1208
A4202-1209
A4202-1213
A4202-1214
A4202-1218
A4202-1219
A4202-1220
A4202-1223
A4202-1224
A4202-1226
A4202-1227
A4202-1229
A4202-1230
A4202-1232
A4202-1235
A4202-1236

A4200-1700
A4200-1701
A4200-1702
A4200-1703
A4200-1704
A4200-1705
A4200-1706

5,0/6,5 MM HEADLESS - e -
COMPRESSION SCREW INSTRUMENT SET ir ﬁ r
103509 U
@1,5 MM SINGLE TROCAR GUIDE WIRE @2,0 MM SINGLE i
TROCAR GUIDE WIRE @2,0 MM THREADED TROCAR .d'ﬁ £
GUIDE WIRE 33,4 MM CANNULATED DRILL BIT @4,5 MM Mi’ 1
CANNULATED DRILL BIT CANNULATED PROFIL DRILL
FOR 35,0 MM SCREW CANNULATED PROFIL DRILL FOR
?6,5 MM SCREW CANNULATED HEXAGONAL QUICK
COUPLING SW 3,0 MM CANNULATED HEXAGONAL QUICK
COUPLING SW 3,5 MM HEXAGONAL QUICK COUPLING SW
1,5 MM HEXAGONAL QUICK COUPLING SW 3,0 MM
HEXAGONAL QUICK COUPLING SW 3,5 MM PARALEL
WIRE GUIDE 5,0-6,5 MM SCREW FORCEPS MEASURING

DEVICE 5,0-6,5 MM T-HANDLE WITH QUICK COUPLING
SHARP HOOK MINI BOX ALUMINIUM BOX

CABLE INSTRUMENT SET

CABLE INSTRUMENT SET

CABLE PASSER-CURVED

CABLE PASSER

PROVISIONAL TENSIONING DEVICES
CABLE CRIMPER

CABLE CUTTER

ALUMINIUM BOX




HIP HEMIARTHROPLASTY BIPOLAR CUP INSTRUMENT SET

A9200-0000 HIP HEMIARTHROPLASTY BIPOLAR

CUP INSTRUMENT SET
BIPOLAR HEAD TRIAL @38

A9200-1027 BIPOLAR HEAD TRIAL @40

A9200-1028 BIPOLAR HEAD TRIAL @42 T

A9200-1001 BIPOLAR HEAD TRIAL @44 - —e—

A9200-1002 BIPOLAR HEAD TRIAL @46 e - -

A9200-1003 BIPOLAR HEAD TRIAL @48 I :

A9200-1004 BIPOLAR HEAD TRIAL @50 2 B30 LG 5 s 20 - 2

A9200-1005 BIPOLAR HEAD TRIAL @52

A9200-1006 BIPOLAR HEAD TRIAL @54

A9200-1007 BIPOLAR HEAD TRIAL @56

A9200-1008 BIPOLAR HEAD TRIAL @58

A9200-1009 INNER TAPER TRIAL YELLOW SMALL

A9200-1012 INNER TAPER TRIAL YELLOW MEDIUM

A9200-1013 INNER TAPER TRIAL YELLOW LARGE

A9200-1014 INNER TAPER TRIAL YELLOW XLARGE

A9200-1015 INNER TAPER TRIAL YELLOW XXLARGE

A9200-1016 INNER TAPER TRIAL BLUE SMALL

A9200-1017 INNER TAPER TRIAL BLUE MEDIUM

A9200-1018 INNER TAPER TRIAL BLUE LARGE

A9200-1019 INNER TAPER TRIAL BLUE XLARGE

A9200-1020 INNER TAPER TRIAL BLUE XXLARGE

A9200-1021 BIPOLAR CUP IMPACTOR

A9200-1022 ATTACHMENT FOR CUP IMPACTOR

A9200-1023 BIPOLAR INSERT REMOVER

A9200-1024 BIPOLAR HEAD GAUGE FOR FEMORAL HEAD

A9200-1025 BIPOLAR CUP CLAMP

A9200-1026 BIPOLAR CUP EXTRACTOR SCREW

A9200-1030 ALUMINIUM BOX

A9200-1029

TOTAL HIP ARTHROPLASTY ACETABULUM INSTRUMENT SET

A9100-0000 TOTAL HIP ARTHROPLASTY ACETABULUM INSTRUMENT SET
A9100-1001 ACETABULAR REAMER @44 ACETABULAR REAMER (346 ACETABULAR REAMER
A9100-1002 (348 ACETABULAR REAMER 50 ACETABULAR REAMER (52 ACETABULAR
A9100-1003 REAMER @54 ACETABULAR REAMER @56 ACETABULAR REAMER @58
A9100-1004 ACETABULAR REAMER @60 ACETABULAR REAMER (62 ACETABULAR REAMER
A9100-1005 (@64 ACETABULAR REAMER @66 ACETABULUM REAMER SLEEVE TRIAL SHELL
A9100-1006 @44 TRIAL SHELL @46 TRIAL SHELL @48 TRIAL SHELL @50 TRIAL SHELL @52
A9100-1007 TRIAL SHELL @54 TRIAL SHELL @56 TRIAL SHELL @58 TRIAL SHELL @60
A9100-1008 TRIAL SHELL @62 TRIAL SHELL @64 TRIAL SHELL @66 SHELL INSERTER : i
A9100-1009 SCREWDRIVER SW3,5 DEPTH GAUGE 0-120 MM DRILL SLEEVE FLEXIBLE B W @ @S
A9100-1010 DRILL SHAFT SCREW FORCEPS INSERT IMPACTOR HEAD @28 INSERT .
A9100-1011 IMPACTOR HEAD @32 ALUMINIUM BOX
A9100-1012
A9100-1013
A9100-1014
A9100-1015
A9100-1016 R
A9100-1017 T e g
A9100-1018 2 24 : -
A9100-1019 >R WwS ﬂ. -
A9100-1021 et B0 A e W
A9100-1022
A9100-1023
A9100-1024
A9100-1025
A9100-1026
A9100-1030
A9100-1031
A9100-1032
A9100-1033
A9100-1035
A9100-1036
-1037
-1038

406+




MOMDOUDLUALRA RH IHPI PA RATRHTRHORPOLPALSATSYT YIN ISNTSRTU

A9400-0000
A9400-1001
A9400-1097
A9400-1002
A9400-1003
A9400-1012
A9400-1013
A9400-1014
A9400-1073
A9400-1004
A9400-1005
A9400-1006
A9400-1007
A9400-1015
A9400-1011
A9400-1010
A9400-1009
A9400-1083
A9400-1084
A9400-1085
A9400-1086
A9400-1087
A9400-1078
A9400-1079
A9400-1080
A9400-1081
A9400-1082
A9400-1088
A9400-1074
A9400-1075
A9400-1076
A9400-1077
A9400-1016
A9400-1017
A9400-1018
A9400-1019
A9400-1020
A9400-1021
A9400-1022
A9400-1023
A9400-1024
A9400-1027
A9400-1028
A9400-1029
A9400-1096
A9400-1098
A9400-1099
A9300-1037

MODULAR HIP ARTHROPLASTY INSTRUMENT SET (2 BOX)
FEMORAL PROXIMAL/CALCAR BODY IMPACTOR- RETRACTOR
RECTANGULAR  OSTEOTOME  DISTAL STEM  IMPACTOR-
RETRACTOR STEM SEPERATOR BODY REAMER HEXAGONAL
SCREW DRIVER WITH T-HANDLE @5,0 MM SLAP HAMMER
FASTENING WRENCH FEMORAL PROXIMAL BODY RASPA XSMALL
FEMORAL PROXIMAL BODY RASPA SMALL FEMORAL PROXIMAL
BODY RASPA MEDIUM FEMORAL PROXIMAL BODY RASPA LARGE
HEAD IMPACTOR MODULAR FEMORAL KALKAR BODY TRIAL
LARGE MODULAR FEMORAL KALKAR BODY TRIAL MEDIUM
MODULAR FEMORAL KALKAR BODY TRIAL SMALL HEAD TRIAL
12/14 CONE 22 SMALL HEAD TRIAL 12/14 CONE 22 MEDIUM
HEAD TRIAL 12/14 CONE 22 LARGE HEAD TRIAL 12/14 CONE 22
XLARGE HEAD TRIAL 12/14 CONE 22 XXLARGE HEAD TRIAL 12/14
CONE 28 SMALL HEAD TRIAL 12/14 CONE 28 MEDIUM HEAD
TRIAL 12/14 CONE 28 LARGE HEAD TRIAL 12/14 CONE 28 XLARGE
HEAD TRIAL 12/14 CONE 28 XXLARGE HEAD TRIAL 12/14 CONE
32 SMALL HEAD TRIAL 12/14 CONE 32 MEDIUM HEAD TRIAL
12/14 CONE 32 LARGE HEAD TRIAL 12/14 CONE 32 XLARGE HEAD
TRIAL 12/14 CONE 32 XXLARGE PROXIMAL BODY- DISTAL STEM
FASTENER BOLT XS PROXIMAL BODY- DISTAL STEM FASTENER
BOLT S PROXIMAL BODY- DISTAL STEM FASTENER BOLT M
PROXIMAL BODY- DISTAL STEM FASTENER BOLT L FEMORAL
STEM REAMER @14 FEMORAL STEM REAMER @15 FEMORAL STEM
REAMER @16 FEMORAL STEM REAMER @17 FEMORAL STEM
REAMER @18 INTRAMEDULLARY AWL T-HANDLE WITH QUICK
COUPLING DRILL CALCAR BODY- DISTAL STEM FASTENER BOLT S
TRIAL CALCAR BODY- DISTAL STEM FASTENER BOLT M TRIAL
CALCAR BODY- DISTAL STEM FASTENER BOLT L TRIAL
ALUMINIUM BOX

] .+—-28l£ —_— e ‘

1, i e e O D N W

05 by

L.
‘a 061-., n:ol7H LR
) 8

e L e 24 e

Wt it e 2 W i

L e e ————— T ) | i —

P it e




MODULAR HIP ARTHROPLASTY INSTRUMENT SET (BOX II)

A9400-0000 MODULAR HIP ARTHROPLASTY INSTRUMENT SET (2 BOX)

A9400-1030 DISTAL STEM TRIAL @14 X 120 MM DISTAL STEM TRIAL @14 X
A9400-1031 140 MM DISTAL STEM TRIAL @14 X 160 MM DISTAL STEM TRIAL
A9400-1032 @14 X 180 MM DISTAL STEM TRIAL @14 X 200 MM DISTAL STEM
A9400-1033 TRIAL @14 X 220 MM DISTAL STEM TRIAL @14 X 240 MM DISTAL
A9400-1034 STEM TRIAL @15 X 120 MM DISTAL STEM TRIAL @15 X 140 MM
A9400-1035 DISTAL STEM TRIAL @15 X 160 MM DISTAL STEM TRIAL @15 X
A9400-1036 180 MM DISTAL STEM TRIAL @15 X 200 MM DISTAL STEM TRIAL
A9400-1037 @15 X 220 MM DISTAL STEM TRIAL @15 X 240 MM DISTAL STEM
A9400-1038 TRIAL @16 X 120 MM DISTAL STEM TRIAL @16 X 140 MM DISTAL
A9400-1039 STEM TRIAL @16 X 160 MM DISTAL STEM TRIAL @16 X 180 MM
A9400-1040 DISTAL STEM TRIAL @16 X 200 MM DISTAL STEM TRIAL @16 X
A9400-1041 220 MM DISTAL STEM TRIAL @16 X 240 MM DISTAL STEM TRIAL
A9400-1042 @17 X 120 MM DISTAL STEM TRIAL @17 X 140 MM DISTAL STEM
A9400-1043 TRIAL @17 X 160 MM DISTAL STEM TRIAL @17 X 180 MM DISTAL
A9400-1044 STEM TRIAL @17 X 200 MM DISTAL STEM TRIAL @17 X 220 MM
A9400-1045 DISTAL STEM TRIAL @17 X 240 MM DISTAL STEM TRIAL @18 X
A9400-1046 120 MM DISTAL STEM TRIAL @18 X 140 MM DISTAL STEM TRIAL
A9400-1092 @18 X 160 MM DISTAL STEM TRIAL @18 X 180 MM DISTAL STEM
A9400-1093 TRIAL @18 X 200 MM DISTAL STEM TRIAL @18 X 220 MM DISTAL
A9400-1096 STEM TRIAL @18 X 240 MM MODULAR DISTAL STEM TRIAL @14 X
A9400-1094 240 MM MODULAR DISTAL STEM TRIAL @15 X 120 MM MODULAR
A9400-1050 DISTAL STEM TRIAL @15 X 140 MM MODULAR DISTAL STEM
A9400-1051 TRIAL @15 X 160 MM MODULAR DISTAL STEM TRIAL @15 X 180
A9400-1095 MM MODULAR DISTAL STEM TRIAL @15 X 200 MM MODULAR
A9400-1064 DISTAL STEM TRIAL @15 X 220 MM MODULAR DISTAL STEM
A9400-1065 TRIAL @15 X 240 MM MODULAR DISTAL STEM TRIAL @16 X 120
A9400-1066 MM MODULAR DISTAL STEM TRIAL @16 X 140 MM MODULAR
A9400-1067 DISTAL STEM TRIAL @16 X 160 MM MODULAR DISTAL STEM
A9400-1057 TRIAL @17 X 120 MM MODULAR DISTAL STEM TRIAL @17 X 140
A9400-1069 MM MODULAR DISTAL STEM TRIAL @18 X 120 MM MODULAR
A9400-1070 DISTAL STEM TRIAL @18 X 220 MM MODULAR DISTAL STEM
A9400-1071 TRIAL @18 X 240 MM ALUMINIUM BOX

A9400-1072

A9400-1062

A9400-1063

A9400-1036

A9400-1037

A9400-1038

A9400-1039

A9400-1040

A9400-1041

A9400-1042

A9400-1043

A9400-1044

A9400-1045

A9400-1046

A9400-1050

A9400-1051

A9400-1057

A9400-1062

A9400-1063

A9400-1098




AYASYHASIMAP M KAN RKETNEHE RAERO ATPRHLTARHSORTPOYL PAKLSAATR

A7100-1000 AYSAM KNEE ARTHROPLASTY INSTRUMENT (FEMUR)

A7100-1001 ANGEL WING STARTER DRILL 9MM
A7100-1002 SPADE TIPPED SHOULDERED DRILL IM
A7100-1003 ROD ASSEMBLY 8,0 MM X 13,0 MM KNEE
A7100-1004 SLAP HAMMER DISTAL CUTTING BLOCK
A7100-1005 FEMORAL  REPOSITIONING BLOCK
A7100-1006 HEADLESS DRIVE PIN FEMORAL DISTAL
A7100-1008 CUT GUIDE FEMORAL POST DRILL
A7100-1009 POSTERIOR UP FEMORAL SIZING GUIDE
A7100-1010 CHAMFER CUTTING BLOCK SIZE 5-4+
A7100-1011 CHAMFER CUTTING BLOCK SIZE 4-3+
A7100-1012 CHAMFER CUTTING BLOCK SIZE 3-2+
A7100-1013 CHAMFER CUTTING BLOCK SIZE 2
A7100-1014 CHAMFER CUTTING BLOCK SIZE 1
A7100-1015 FEMORAL INSERTER FEMORAL
A7100-1016 IMPACTOR KNEE IMPACTOR HANDLE PIN
A7100-1017 PULLER ~ STEINMAN  PIN  PULLER
A7100-1018 FEMORAL TRIAL SIZE 1 LEFT FEMORAL
A7100-1019 TRIAL SIZE 1 RIGHT FEMORAL TRIAL
A7100-1020 SIZE 2 LEFT FEMORAL TRIAL SIZE 2
A7100-1021 RIGHT FEMORAL TRIAL SIZE 3 LEFT
A7100-1022 FEMORAL TRIAL SIZE 3 RIGHT FEMORAL
A7100-3001 TRIAL SIZE 4 LEFT FEMORAL TRIAL SIZE
A7100-3002 4 RIGHT FEMORAL TRIAL SIZE 5 LEFT
A7100-3003 FEMORAL TRIAL SIZE 5 RIGHT
A7100-3004 ALUMINIUM BOX

A7100-3005

A7100-3006

A7100-3007

A7100-3008

A7100-3009

A7100-3010

A7100-1023

KNEE ARTHROPLASTY INSTRUMENT (FEMUR)

A7100-4000 KNEE ARTHROPLASTY INSTRUMENT (FEMUR)

A7100-4001 PS REAMER GUIDE A - SIZE 1

A7100-4002 PS REAMER GUIDE A - SIZE 2

A7100-4003 PS REAMER GUIDE B - SIZE 3 I
A7100-4004 PS REAMER GUIDE B - SIZE 4

A7100-4005 PS REAMER GUIDE C - SIZE 5

A7100-4006 REAMER A REAMER B

A7100-4007 REAMER C REAMER DRIVER

A7100-4008 BONE PINS

A7100-4009

A7100-4011




KNEE ARTHROPLASTY INSTRUMENT (TIBIA)

A7100-2000 AYSAM KNEE ARTHROPLASTY INSTRUMENT (TIBIA)

A7100-2001 IM TIBIAL ALIGMENT GUIDE TUBE ALIGNMENT CHECKING
A7100-2002 ROD TIBIAL ALIGNMENT UNIVERSAL HANDLE TIBIA
A7100-2003 CUTTING BLOCK LEFT TIBIA CUTTING BLOCK RIGHT .
A7100-2004 TIBIAL ANTERIOR SPIKE ASSEMBLY TIBIAL CUTTING A
A7100-2005 BLOACK SLIDING ROD TORQUE WRENCH STYLUS I s ) .. Py
A7100-2006 UNIVERSAL HANDLE HEADED STEINMAN PIN TIBIA INSERT
A7100-2007 EXTRACTOR ANKLE CLAMP THREADED STEINMAN PIN
A7100-2008 TIBIAL IMPACTOR TIBIAL KEEL PUNCH HANDLE TIBIAL
A7100-2009 PUNCH SIZE 1-2 TIBIAL PUNCH SIZE 3-4 TIBIAL PUNCH
A7100-2010 SIZE 5-6 TIBIAL TRAY TRIAL SIZE 1 LEFT TIBIAL TRAY
A7100-2011 TRIAL SIZE 1 RIGHT TIBIAL TRAY TRIAL SIZE 2 LEFT
A7100-2012 TIBIAL TRAY TRIAL SIZE 2 RIGHT TIBIAL TRAY TRIAL SIZE
A7100-2019 3 LEFT TIBIAL TRAY TRIAL SIZE 3 RIGHT TIBIAL TRAY
A7100-2020 TRIAL SIZE 4 LEFT TIBIAL TRAY TRIAL SIZE 4 RIGHT
A7100-2021 TIBIAL TRAY TRIAL SIZE 5 LEFT TIBIAL TRAY TRIAL SIZE 5
A7100-2022 RIGHT ULTRA TIBIAL INSERT TRIAL SIZE 1 X 10 MM
A7100-2023 ULTRA TIBIAL INSERT TRIAL SIZE 1 X 12 MM ULTRA
A7100-2024 TIBIAL INSERT TRIAL SIZE 1 X 14 MM ULTRA TIBIAL
A7100-2025 INSERT TRIAL SIZE 1 X 16 MM ULTRA TIBIAL INSERT
A7100-2027 TRIAL SIZE 1 X 18 MM ULTRA TIBIAL INSERT TRIAL SIZE 2
A7100-2028 X 10 MM ULTRA TIBIAL INSERT TRIAL SIZE 2 X 12 MM
A7100-2029 ULTRA TIBIAL INSERT TRIAL SIZE 2 X 14 MM ULTRA
A7100-2030 TIBIAL INSERT TRIAL SIZE 2 X 16 MM ULTRA TIBIAL
A7100-2031 INSERT TRIAL SIZE 2 X 18 MM ULTRA TIBIAL INSERT
A7100-2032 TRIAL SIZE 3 X 10 MM ULTRA TIBIAL INSERT TRIAL SIZE 3
A7100-2033 X 12 MM ULTRA TIBIAL INSERT TRIAL SIZE 3 X 14 MM
A7100-2034 ULTRA TIBIAL INSERT TRIAL SIZE 3 X 16 MM ULTRA
A7100-2035 TIBIAL INSERT TRIAL SIZE 3 X 18 MM ULTRA TIBIAL
A7100-2036 INSERT TRIAL SIZE 4 X 10 MM ULTRA TIBIAL INSERT
A7100-2037 TRIAL SIZE 4 X 12 MM ULTRA TIBIAL INSERT TRIAL SIZE 4
A7100-2038 X 14 MM ULTRA TIBIAL INSERT TRIAL SIZE 4 X 16 MM
A7100-2039 ULTRA TIBIAL INSERT TRIAL SIZE 4 X 18 MM ULTRA
A7100-2040 TIBIAL INSERT TRIAL SIZE 5 X 10 MM ULTRA TIBIAL
A7100-2041 INSERT TRIAL SIZE 5 X 12 MM ULTRA TIBIAL INSERT
A7100-2042 TRIAL SIZE 5 X 14 MM ULTRA TIBIAL INSERT TRIAL SIZE 5
A7100-2043 X 16 MM ULTRA TIBIAL INSERT TRIAL SIZE 5 X 18 MM
A7100-2044 TIBIA CUTTING BLOCK ANGLE DEVICE/EM ALIGHMENT
A7100-2045 ALUMINIUM BOX

A7100-2046

A7100-2047

A7100-2048

A7100-2049

A7100-2050

A7100-2051

A7100-2052

A7100-2053

A7100-2054

A7100-2055

A7100-2056

A7100-2057

A7100-2058

A7100-2059

A7100-2060

A7100-2061

A7100-2064

A7100-2000-03




HIP ARTHROPLASTY KARE FEMORAL STEM INSTRUMENT SET

A9300-0000 HIP ARTHROPLASTY KARE FEMORAL STEM INSTRUMENT SET

A9300-1029 KARE STEM IMPACTOR-RETRACTOR KARE STEM
A9300-1030 IMPACTOR-RETRACTOR ARM KARE STEM PUSHER
A9300-1033 KARE STEM RASPA IMPACTOR RETRACTOR KARE
A9300-1032 STEM RASPA IMPACTOR ADJUSTING LEVER
A9300-1031 RECTANGULAR OSTEOTOME HEAD IMPACTOR
A9300-1034 REAMER KARE STEM RASPA SIZE 9 KARE STEM
A9300-1035 RASPA SIZE 10 KARE STEM RASPA SIZE 11 KARE
A9300-1036 STEM RASPA SIZE 12 KARE STEM RASPA SIZE 13
A9300-1001 KARE STEM RASPA SIZE 14 KARE STEM RASPA
A9300-1002 SIZE 15 KARE STEM RASPA SIZE 16 FEMORAL
A9300-1003 HEAD TRIAL @22 S - 12/14 FEMORAL HEAD TRIAL
A9300-1004 @22 M - 12/14 FEMORAL HEAD TRIAL @22 L -
A9300-1005 12/14 FEMORAL HEAD TRIAL @22 XL - 12/14
A9300-1006 FEMORAL HEAD TRIAL @22 XXL - 12/14 FEMORAL
A9300-1007 HEAD TRIAL @28 S - 12/14 FEMORAL HEAD TRIAL
A9300-1008 @28 M - 12/14 FEMORAL HEAD TRIAL @28 L -
A9300-1009 12/14 FEMORAL HEAD TRIAL @28 XL - 12/14
A9300-1010 FEMORAL HEAD TRIAL @28 XXL - 12/14 FEMORAL
A9300-1011 HEAD TRIAL @32 S - 12/14 FEMORAL HEAD TRIAL
A9300-1012 @32 M - 12/14 FEMORAL HEAD TRIAL @32 L -
A9300-1013 12/14 FEMORAL HEAD TRIAL @32 XL - 12/14
A9300-1014 FEMORAL HEAD TRIAL @32 XXL - 12/14 T-
A9300-1015 HANDLE WITH QUICK COUPLING ALUMINIUM
A9300-1016 BOX

A9300-1017

A9300-1018

A9300-1019

A9300-1020

A9300-1021

A9300-1022

A9300-1023

A9400-1028

A9300-1037




Lumbar Cage Instruments & Set For PIlif/ Tlif

PLIF/TLIF Cage Instrument Lumbar Cage Instruments
Sets And Set for PLIF/TLIF

FGL-MRHI7 COI"I"ID|EItG Sat
Complele sel consigling of:

Qty Order Code  Description

1 FGL-MROOD266  Trial Spacer, 8 mm
1 FGL=-MROCD2ET  Trial Spacer, 10 mm
1 FGL=-MRODO268  Trial Spocer, 12 mm
1 FEL-MRO00269  Trial Spacer. 14 mm
1 FGL=MROCDZ70  Trial Spacer, 16 mm
1 FGL-MRODDZ7  Mallet Slotted
1 FGL=-MRO00272  Box Curette, shaft bayoneted
1 FGL-MROCO0273  Tray, stainless steel
1 FEL-MRO0027T4  Rotary Scraper, @ 8 mm
1 FGL-MRO0OD275 Rotary Scraper, @ 10 mm
1 FGL=-MRODCZ7E Rotary Scraper, @ 12 mm
1 FGL-MROO0277  otary Scraper, @ 14 mm
1 PEL-MRODO278  Rotary Scraper, o 16 mm
2 FOL-MRODDZ7Y  Stondord T-Quick-change Handle with strike cop
2 FGL-MROOD2BD  Nerve Hook
1 FGL-MROO0281  Tray Insert, stoinless steel
2 FGL-MREO0028Z Coge Hokder
1 FGL=MRODD2B3  graft Cempactor
1 FGL-MRODO2E4A  gralt Block
1 FEL-MRO0028E  pone Pushar
1 FGL-MRO002BEG Bone Graft Funnel
1 FGL-MRODOZST  Tray, stainlees steal
1 FGL-MROOO2ZB8  Sharp Speen, straight
1 FGL-MROOO2B9  Sharp Spoon, loit angled
1 FEL-MROODZB0  Sharp Spoon, right angled

2 i FOL-MRODO29]  Cago Pusher
1 FGL=-MRODD2I92  Loop Curette, left angled
1 FEL=-MEOD0293  Loop Curetts, right angled
1 FGL-MROD0Z84 Endplote Rasp, et angled
1 FGL-MROD0285  Endplate Rasp, right anglad

FGL-MaODO2H6 Tray Insert, stoinless steol

37




Pedical Screw instrumenst and set

Pedicle Screw
Instruments and Sets

Fal-MRHIE  Completa Sel

Lk Al e ol

OBy Lot Concla Ceserpdnn

1 FOL-YRIOTIAE  pamiic ks ot @ th pioz

1 Fal-waRIOII4E  pvedicha asd tircigh

i rul-aRIOIIAE  Feedlzia aed coreed

8 | Pl -0l IAR  sesirding probs sbrighl

1 7 el £ WTHH W o pdepriey B

1 7-iadick chorge robud Basdls s & conrmioe, oo i biliel
i = Tmigpam apd b b oh o Rk 0D W adih B canem

1 focicolpe. 10 — "E0 i

i FUL-ARTOII%d  Seresadiali wite pouoee adopier & Pl el yeie o ond mearcodal PO so el
1 i ratid med, dlemmirdabin

i FHL-aRIOIESE  Eeeasdrbear tppoab e edl b el £OpE0 e oo plee ¥7
i ra-an 0l sorgacdibearaiEh R ons dpoe B SAOEIE 50

1 POL-vRoOEEGE  Scrawdrtent wilk 100 Snd equore odosbes KT

i [T (=TT Fud praslon, gliagre with glkccess hordie

i FOL-\PS W Fod loee Al h s ool ozber BT

i FOL-VPSOEIhd S omgediii Doig e ddih alkcone Rord e

1 FOL WBIOZIRG  Forosocar L-lorm, ol s ek

i roL-yEEcnsam Fwsusilon seres Heiil Rirer

1 FGL- vRIOSIH? Ead barsim

i Fol-wRCniZIAY Eos P ider, I

1 FOi-iaRohicied nEGotan faicese

i FalL-WRIOCIEE oampseancr lorcepe



ACL/PCL Reconstruction Instrument Set

ACL [ PCL Reconstruction ACL [ PCL Reconstruction
Instrument Set Instrument Set

FeL-mRHIS  Complete Set
Compiéots sel consizing of

Oty  OrderCode  Description

FEL-MRO0aINE 2.5 Cruciols Ugarmaent Slght
[Z=TRR X [alsta PLES Anbarior Cruciobs Ligamant Foini-te-Paint Lacabar
FEl-MRAOCA2EE Postarics Craciata Ligomend Tikin Lecatos

FiEl - MRO0DIEE moutarior Cruclots Ligamsant Famonal Positions:

FEL-MRA0I20 peas File Sralght
FGL-MRO0DI2N Bone File Curvad
P MiPd00122 Faairy

Fornorol sl Gusdar Trm

al Jffset Guidsar Hrmrm

FiEL=MRODa234 il Pratas

FiEl = MRAOGOIIE Probe Death

Pl - MRO0DI2E Praba De@ath Gougo

FrL - M E00227 Tandon opening mecaurar
reL-Mpdt022E  Cartilage Swl
FEL-MPI0032%  Tardon Extrootar
FOL-WMRI00II0  cannulabed o
FEL-MRAa211 conraloteds dill bit fos Tiblo Gmm
FEL-MPd0023%  connulabed il bit e Tibia Tmm
Pl -MRA0D233  connulated dill Bt for Tibia Armen
FEL-MRA0NZIL  connulabed deill bit fer Tibio B.Smm
FEL-MRADOIAS  cpnralateds diil bit for Tibla 8mm
FOL-MRODNIAE  conmulated ddil bit for TiRio 8 Smm
FEL-MRIDO2AY  connulabad gl bt e ermar Smm

hit s Tibia S

FEL-MRA23E  connulated deill Bit for Femuar Brmm
FEL-MEABO239  coamdloted drill Bitfes Famur Fmim
FEL-MA00340  gonnulabed il bit ler Femur Brmm
FEL-MAI00341 esnnulatad ddll bit fer Peemdr 3mm

B o R B T I e R R R

FEL-KMRODO242  connulabsd dell bit & Femur 19mm

FEL-MROO245  Parlorated guide negedle
FEL-MRODO24  spumimum Sox




Trimline Cervical Retractor Syste

Trimline Cervical Retractor

T Tilividng Sorvicnl Tatrockar Spalam provides o comamhe o sokrkn fo apliral vhuclization and oceees cuting
ACOF procseuras 1S Interchangeobis blodel and ookr-cocked ceaign amiurs eificien: sxpas w ared Gase of use
Godh Qualky Trimdne Balrastor Sysemme comss with a Magme waronby fer pewr oo of mind

Trimiline Cervical Retractor Soek

(IETE S I ETRIERA RTRIL GLADES  pasdiniki

FiaL-RRHEE-1  TITAMNIUM ALADES
Consnoiial el C RS o

Oy D pode. - Desoriplian

] Pl WREOIIE - 3 Hunkdode

2 FoL=wnc03iil A0 Bond RludE

o P -0 EOIRE A0y Bail FELIE

2 pol-wvnenziie  GDmem ek Blads

-] PR -UHEDIESD T Kl HIGSE

= Pl -REDIIN #armm ot el de

=] Fir.- arnre rasic sl Blode

] kAL - abares Rl FeEa Bleds

2 Fil- 0 G TR PRl ] T

=2 PG AP DnEs  SDyrem redic b Blode

2 ran-m el DEiE  TImm R el B ik

= rol-RnEIEEET  Ouloi-Ewlmass Beliailod HOAHE

= pR-MNEIDEER  msiesedrieer

1 FUL-REIDIIT  Werapesdi b iEracear |UEFTEET]

1 PRI-RNIEEIa  dobo Ll Trorsesdla Batiasisr (onda )
1 FOiL-RECEILAED Sralin- L S d = Bl w0 B Ped O




-slide IT Laminectomy Retractor Set

Super-Slide Il Laminectomy
Retractor Set

.

A piwaciyl relraciion with & seksction of blade deplhs wlhich can bs poslionsd arabens akang the rirscion srng,
Mioas cocellent soposurs of #o spine in Fedice Soow and Laminascdtory procecunss.

Titanium SuperSids Rstracior Basic Sat

Fal WRHOY

iy Ordar Coda Description
1 FaI-WRDICEA  Alrackr Frams

4 rolWRDsCah  Sedll Tisrium Blacdses 2 dagth

4 FOL-RENS3IE  Medum Tilanum Beoes 37 depth
4 pei-wr0ocaT  Lange Tianium Blades 4° depth

1 FGL-WRDZCOR  Insfrumam Confrina:

£ ral-pEcopy:  Supplementary Thanum Slades

4% dagin
2 ro-anDooao  Uelstersl Blacke Hasds
2 sow-wmpaoil  Ueilateral THanom TBldes

Super-Slide Il Laminectomy
Retractor Set

Super-Slide Ralracior Bladas

WAl mak sl ot of werund
during sumgary

Moo Glade design
mirimises polential of e
NRCTTEER A1 Dhde Gl e

coriagd pind
Finckeey Seanim cuich ks
locking symiom
i
b! PPRCKED
. IMETMERT 7
YoommEE ]
|I| —
A 3 .
- I._""7 ~ Large
|r TURCRMATEN oy panzain " ki
F) FaL ARmony C
4" giapin
St e U]

Urilgteral Bleca Attachmant
— A
Dilaces kock nio ary chissn posiion Slong e o
vl iy e changed al oy me dunng sagery

At b Al s SR e CE0R0a of @ilher 3NAChing

1 ha relractor anma then placing tha wnk imo the wound

of placing e blacies imo tha wirdnd then angasing Te

TRama anrs

Ta cbfain 2 uniateal ceposure, use the unilalesl clode

ahactuments carained in e wdenoed @l The TBuds =

chasagy el 00 Al & e porchass on e Sonous

PrEEs

Urikzioral T-Biada
G- AR

Tra T-Blada car ba adusiad 10 the cormct depth wih 1ha
bl lack




Microdisectomy Tubular Retractor

Microdiscectomy Tubular Retractor

FGL-MRH20
FOL-MRHID

& E0NSENg O

Order code

FOL-ELS00
FOL-RLE02
Fi-®L502
FOL-RLE04

FOL-RLE0S

1 FOL-RLS0&

1 FOL-HLEDT
1 FOL-EUICE

) FOL-BLS0%
1 FOL-RLS0N

1 FOL-RLEON

1 FOL-RL5002
1 FOL-RLEOD
1 FOL-RLS08

FOL-RLE0K
FOL-RLE0N
FEL-RLEON

FOL-RLE0M
FOL-RLE0M
FOL-RLEDID
FOL-RLSO2E
FOL-813027
FOL-RLE0ZY
FOL-RLED24
FOL-RLE025

FOL-RLS026
FOL-HLED2T
FOL-RLE028
FOL-MA0TH
FOL-HLE030
FOL-RLS031

FOL-RLS032
FOL-RLEDIY
FOL-RLEDDE
FOL-RLS0IS
FOL-RLEDIS
FOL-BS03T

FOL-00

Microdiscectomy Tubular Retractor

Description

Tray 1- Pltultary] Seissers
1 i PHRAGY with tooth

1% Zmm Strokght micropRultary
13 2mem Upkiting Fiouitary

1 % Armm Straig POy

1 X Curved scinzon

1 x 41T Upiting Pituisary

1 2n

Downibiting Fitskary
1% Ermen Upbiting Micrapitultary
Troy 2 = Kefrisgna

1% 3men 45° Bayonsied

i x 2mem 40+ Bayonsted

1% amm 40° Boyoneted

Tray 3 - Kairisons

15 o 40° Bayenated

1% B 40° Boyorsted

1 xmero scisson

Tray 4 - Ratractorsf Forceps
1 x Mz solssors

1x Euckor #10
15 Buskar Wi

13 Suekor 98

1% Suckion HeLACIE

1 n Wikke ttive Roct Retiaeic:

15 Hesive Root Rasractor

1 % Angled S50/ Finar Bipolos Foremps

1 x Stroight Short| Finer Bipstar forseps

1 x Angled Bi Folar Forcep, U3 connesticn

1w Slraikght Bl Polar Forcep, US Connaction
Tray 5= Cureit
5.Imm Bayoreted Forad Stralghl CUP
Admm Bayensted Forsard $lralght Uk
E2mm Bayonsted Formord Angled CUP

e Boyoneted Foreard Argled SUR

S BOyoneted Rovere Angled
Lmm Baysielad Bevers Angled

a5 wesdson Frobe

LBmm Rayenated Foras $raight Cue
LBmm Bayonated Forward Angud CUF
LBmm Bayonated Rewvarie Anghed
nayoreled Penfiold i & push

payeretea Peniiela £ 4 pull

Boyoreled Penliald #2 push

Microdiscectomy Tubular Retractor

FOL-MRH20
Came of conssling of
Oty Order code  Description
Tray 5- Curettes
1 FOL-RLEO3R Boyoneted Herve Straight
1 FOL=RLEDAD Bayonoted Diszector Right
1 FOL-RLES0A1 Boyanated Dissector Stralght
1 FOL-RIE04Z Eayenated Dissector Left
set B:Tray 1: Tubes and Cilators
1 FGL-RLS043 Dilgtor, 1Z8mm Purgle
1 FGL-RLE044 1emm x Jem Tuba Purple
1 FOL-RLEDAS 14mmn % 4em Tubs Purple
1 FGL=RLSDAE 1emm x Bom Tube Purple
1 FOL-RLS0&T Mdmm x Bem Tuks Purple
1 FOL-RLSDES 14mirm x Tem Tube Purple
1 FOL-RLE0AS J4mm x Bem Tube Purpie
i FOL-RLSDED Mmm x Som Tuba Purple
1 FGL-RLEOE! DHlater, 14.6.mm Groon
1 FGL-RISDEZ 18FA 3 3om Tube Groon
1 FOL-RISO6T wmm x dem Tube Green
1 FOL-RLS0EL ibmm x Gem Tube Green
1 FGL-RLSOSE 1Emm x Bem Tube Groan
1 FOL-RLE0EE 1Bmm x 7em Tube Green
1 FGL-RLSOET 16mm x Berm Tube Sreen
1 FGL=-RLSOER 16mm x Sem Tube Green
1 FGL-RLS0ES Dilater, 16.6mm Blue
1 FOL-RLEDED 1Bmim x 3em Tubs Blus
1 FOL-RLEOB] 1Bmm x dem Tubs Blue
1 FOL-RLS062 1BmrA x Sem Tube Blue
1 FOH-RESDEZ 1Bmm X Bom Tuba Blue
1 FOL-RLEOEL IBmm x Tom Tube Blud
1 FGL-RLSDEE 1Bmm x Bem Tube Blue
1 FOL=RLSOBE 1Bmm x Scm Tube Blue
1 FOL-RLSOGT pilator, S.4mm Siiver
1 FGL-RLEOBE pilator, Bammsiver
1 FOL-RLSOBE 955,519 MED Guidewire
Tray 2: Arm
1 FOL-RLSOTO 1 MED Flaxible Arm

1 FoL-RLSOT

| METRX B Rail Attachmsnt




MIS Tubular Retractor System

MIS Tubular Retractor System

MIS Tubular Retractor System
FGL-MRHIL

Compiafe saf Sovngishing of
ey Cirdar eoscla Descriptinn
sal-pARO0ENIT  H pes Sterilizatan Tray ey Silicon Mots
FEl=pAROREIIL 18 mun Cups
rerl-MAODAIIG 18 mim Cups
reEl-MROGEA2E 20 mrn Suga

fGL-MRODEAZT  Dikators (6 mm x B0 mm)

el T I R

FEL-pARO0E32E  Complets Bed Suppart Syelem
with Molkatis dre




BlackBelt Cervical Retractor Set

‘Black Belt’ Cervical

Retractor Set

* Tesrsen Al Sa davion

A arivanced Ceeacsl RENacIor sysiemn sutabis tor both areencr snd posienor carvecal SUgery iInchuding
attachments ke micrd Gecachiny sungerny

Basic ‘Black Beit’ Cervcal

Ratractor Systam FOL-MRHOD

Complate sof consisting of

Oty Ordercode Description

1 rol-umrcooss  FSrBolor Frame
FIGHT (Corpoctcmy)

1 FoL-uRdSOER  Relracior Frame LEFT

1 pgi-umoooss  Futractor Frame OFFSET

2 ro-urooosl  Blade insertion Clamps

W roL-uEC0062  Pronged Bisdes 3w Mmm

14 roL-uRl0DEd  Blunt Blacdes 3amm-70mm

12 rol-WRoo08d  Two Level Pronged Blades
& Shme

&  sor-meo00ss  Two Lowel Blunt Blades
S0men. Same
1 rol-uecooss  Container

Extended 'Black Belt' Cendcal
Ratractor System

Congisting of

FO4 - MENOS

detaliod on Mext Poge.

Coloured Titanium

Extended ‘Black Belt' Carvical < FoL-EHOS

Ratracion System

Complote s consisting of:

Oy Crdlar coa
1 VoL -sIE00047

1 FoL-w00088
1 10U - 0008 %
2 FeL-um00070
H FOL-wk000T
M poL-ue00072
12 roL-w=00073

a8 FoL-wikDO0TE

1 FOL-ME0007H
1 roL-mm00078
10L-Wae0007TT
FOL -k OOOTE

FoL-ME0007E

Ol aEt00a0

Dascrigiion

Retractor Frams

RIGHT |Corpaciomy)
Retractar Frame LEFT
Redractor Frama OFFSET
Blade Irsaron Clamps.
Prongod Blades. Jmm. fomm
Biurit Blades 3sem: firmm

Towts Lésvedl Pronged Blades
Alrmer-S5mm

Ty Lo Blurdd Blaclos.
40mer-Simm

Cortanaer

Micro Disc attachmant
Sipikue Binde

T-Shapo Blada

Inner Spine Ligament Blode
Pronged Blade samm cam

‘Black Belt’ Cervical

Retractor Set

Blades
The blacs ahada B demgined b Rt chmieng oul of e
BurgC B

picarr Tad vl Edaces Prvl B el Dend nedr [Fe
i follows Bha conlowr of the veriebnas lor visuskeing

® ® @

|
v
- —

L L1] )

22ener 2T ey wichey  wich
A Ty hpvacd Wi el

Bluril it DGR
Dacie e

Full joirtod mot
kol finish

Wicks blaca ranga ﬁ
Suilabies for ainghy oF
myki lgvel rotraciion

jows tor easy blace
s ——

Cla
T

aneiiEs Crena
o
ObatnacHion

Blacka/clamp BEseT
iy b Lo for har
ristraction

Clinrp i cquilcidy

. o alie
rArScior armé Frad
EaCuredy engaged the
[£55 ]

FREEpELE
T-Share thacde -

Arm ok

Lumbar Micro Discectomy Attachments
With this 5o¢ She stanciard Corvical Ftncior DOcomis
L McrodchCiomy Retrdion uni

Foa-makedd

G

b Sl COrBSIRy o
Oty Order code  Description
1 FOU-MRO008T Moo Deac amAchiment
1 Fou-mk3to8r Spéa Blade
1  rou-umeocodd  T-Shape Biade
i rou-seocosd  Inner Spine Ligamond Blacde
1 rgi-meocoss  Pronged Blade S5mm depth




Mcculloh Retractor Set

McCulloch Retractor Set

This Specialist Retractor allows the consultant the
optimal exposwne io the disg with the minkmum
nCigion

The design of the retractor alkws unhindensd
ACoNES Around the wound with tha jointed ams
foiding akong the patlents back.

Basic McCulloch Retracior Set
F L MR MO
Complete sef consisting of:
Cty Order code  Description
16ach Fou-mR0001  Retractor Frame

4 pairs  roL-mr0002  Wide Muscle Blades
Sizes 4om 1o Tem depth

4 paits FOL-mRO0OY  Naerow Muscle Blades
Sires 4cm to Tom depth

4 gAch  FoL-MROQOS Hook Biades
Sizes 3cm to Gem depih

4 gach roL-mko00s  Toothad Biades
Sizes 3cm 1o Gom depth

1@ach FoL-MBO008  Instrumant Container

The black finish eliminates distracting reflections
under the microscope duing surgary,

The wide salection of blades avallable allows the
surgeon full flexibilty in approaches to the disc

Extended McCulloch Retracior Set
FL-MRHOZ
Complete saf consisting of:
Oty Order code  Description
2each  pg-wmoooy  Petractor Frames

B pairs  FoL-mROG0E  Wide Muscle Blades
Sizes 3cm w0 Sem depth

Gpairs  FoL-MRO000  Namow Muscle Blades
Sizes 3cm to Bom depth

Beach  FoL-mR0010  Hook Blades
Sizes 2em to Tom dapth

Beach rol-mro0n  Toothed Blaces
Sizes 2cm o Tom dapth

Teach FoL-mRODIZ  Instrument Containar

McCulloch Retractor Set

Standard Frame
i
TR

FOL-MRS0a13

FOL-MRDODIE

JONTGC BT
Longss arms sooommodating
2 biacgs on gach am, Lsehd
for muttHevel approach

FoL-MBOSEZE  Bom depth
FGL-MBOOOE  Rem oepth
FoL-MR000ET  4om depth
FOL-MROOEZE  SCm oepth
T -MROO0ZE  Bom cépth
FEL-ME0IG30  Tom depth
FoL-MEOGEIN  Bom depth

E—I'nd-oc:{ FeL-MEGS03Z  Bom dapth

FEL-MR00033  10cm depth

Toothed Bades

Fe=MR00043  Zom dapih
FOL-MROO0A4 B capth
o -MR0004AS  40m dapth
Fol-MROC04S  Scm depth

FEl-MRrOO04T  Bom depth
Foi-MR00048  Tom depih
FR-MROO0AS  Bom depth
FOU-MROOOSO  Gem dopth
TE1-MRO00E)  10cm depth

Viide Muscla
Biacdes - § Teeth

lorg rack allowing 8 wider axposune

Frame with Extra

Long Rack
JOrlDd SIS
Maimurm opering 1dem

FBL-AERODON

mim widh
FGL- MBOO0E
FOL- MRG0T
FOL-MRODOIE
FOL-MROSOIR
FOL-MROD0G0
PO MRDS021
FGL-MROB0IZ
FOL- MO0
FaiL-MRDD024

3om depth
4cm depth
Som depth
Bom depth
Tom degth
Bom depth
Bom depth
10cm depth
12cm depth

Narrow buscle
Blaios - 4 Taeth

[Extra deap {

20rmem wadth
FOL-MRG0034
FOL-MEG0DIS
FOL-MRO0DIE
FOL-MRO003T
FOL-MRCOD3S
FoL-MRGODIS
FOL- MRG0
1 OL-MRB0D41
FOL= MEDODET

Sem dopth
4 dopith
Scm depth
Bom depth
Tom depth
e depth
‘Scm dopth
10cm depth
12em depth

Thin Muscla
Blmien - 2 Tasth

17 wiath
FOL-MROQOEZ
FEL-MRO0 083
PO - MREDSOSE
FGL-MROOOSS
T MEDDDNE
FOi-MROOOST

Som dopkh
Acm depth
Bem dopth
B Gopth
Tom depth
Bom dopkh




46

Than
You!

TETRA

INDUSTRIES

Website: www.tetraindustries.com

E-Mail: info@tetraind.com
tetraindustriesOl@gmail.com

Whatsapp: +92-329-7598399 Cell: +92-329-7598399

Address: Shahab pura P.O
Head Office 51310 Sialkot -
Pakistan.

;y’
scci { ¢
W



